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ТРЕБОВАНИЯ К ВЫПОЛНЕНИЮ И ОФОРМЛЕНИЮ КОНТРОЛЬНЫХ РАБОТ
1. Каждое контрольное задание данного методического указания представлено в пяти вариантах. Студеит-заочник выполняет один из пяти вариантов в соответствии с последними цифрами его студенческого шифра. Студент, шифр которого оканчивается на 1 или 2, выполняет первый вариант; на 3-4 - второй вариант; 5-6 - третий вариант; 7-8 - четвертый вариант; 9-10 -пятый вариант.
2. Письменная контрольная работа должна быть оформлена в отдельной тетради. На обложке тетради студент-заочник пишет свою фамилию, имя и отчество, номер контрольной работы, вариант, дату выполнения.
3. Письменная контрольная работа должна быть выполнена авторучкой, аккуратно, четким почерком (или в машинописном виде). При выполнении контрольной работы следует оставлять в тетради широкие поля для замечаний, объяснений и указаний преподавателя-рецензента.
Материал контрольной работы следует располагать в тетради по следующему образцу:
	Левая страница
	Правая страница

	Поля                     Английский текст
	Русский текст                          Поля


4. Если контрольная работа выполнена без соблюдения вышеизложенных требований, она возвращается без проверки.
5. Строго соблюдайте последовательность выполнения заданий.
6. Текст, предназначенный для письменного перевода, переписывается на левой странице, а перевод на русский язык на правой странице.
7. В конце работы поставьте свою личную подпись.
8. При получении от рецензента проверенной контрольной работы студент-заочник обязан проанализировать отмеченные в работе орфографические и грамматические ошибки или неточности, исправить их в письменном виде в конце данной работы или на отдельном листе, который должен прилагаться к данной контрольной работе,
9. Отрецензированные письменные контрольные работы необходимо сохранять и предъявлять на зачете и экзамене.
10. Перед выполнением контрольного задания рекомендуется изучить грамматические явления, проверяемые в контрольной работе и представленные в кратком грамматическом справочнике данного методического указания или в другой учебной литературе по английскому языку.
КОНТРОЛЬНЫЕ ЗАДАНИЯ
Контрольное задание 1.
Для выполнения контрольного задания 1 необходимо проработать следую​щие разделы курса.
1. Структура английского предложения (повествовательное, вопроситель​ное, отрицательное).
2. Имя   существительное.   Образование   множественного   числа,   особые случаи образования множественного числа существительных.

3. Местоимения (личные, притяжательные, указательные, вопросительные, относительные, неопределенные).
4. Оборот there + be.
5. Прилагательное.    Степени    сравнения    прилагательных    и    наречий. Сравнительные конструкции.
6. Формы английского глагола.
7. Система времен в активном залоге.
ВАРИАНТ 1.
I. Прочитайте, перепишите и переведите на русский язык следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -S и какую функцию это окончание выполняет, т.е. служит ли оно:
1. показателем 3-го лица единственного числа глагола в Present Indefinite;
2. признаком множественного числа имени существительного;
3. показателем притяжательного падежа имени существительного. Образец выполнения 1:
1.
In autumn many birds fly
I. Осенью многие птицы улетают
to warm countries.                              в теплые страны.
Birds - множественное  число  от имени существительного a bird — птица.
2.
Most of the London's places of     2. Большинство
interest are situated to the north of     достопримечательностей Лондона
the river Thames..
располагаются к северу от Темзы.
London's  -  притяжательный   падеж   имени   существительного   в единственном числе.
3.
In the United States Mother's        3. В Соединенных Штатах Америки
Day is the second Sunday in May.      День Матери отмечается во второе
воскресенье мая. States - - множественное число от имени существительного state - штат. Mother's    -    притяжательный    падеж    имени    существительного    в единственном числе.
1. This dictionary contains all the words in common use.
2. Dictionaries of this kind are useful to translators.
3. To the right of St. Basl's Cathedral rises the main Kremlin tower, the Spasskaya.
4. She was a miner's widow.
5. Nature provides animals with weapons of defense.
II.
Прочитайте, перепишите следующие предложения и переведите их,
обращая внимание на особенности перевода на русский язык оборота there +
be.
1. There is a tremendous amount of work to be done in this country on environmental protection.
2. There can be no life without problems.
3. There has been a great deal of progress in these spheres of science.
III.
Прочитайте, перепишите и переведите данные предложения, содержа​
щие разные формы сравнения.
1. The most difficult thing about English, as the students say, is prepositions and adverbs.
2. The higher a person's income is, the higher the tax rate is.
3.
Japan now has the third largest military budget in the world.
• 4. His radio-set is not so powerful as mine.
5. Today we have loaded three times as much wheat as yesterday.
IV.
Перепишите и переведите предложения на русский язык, обращая
внимание на перевод неопределенных и отрицательных местоимений.
1. If you have any news, call me back.
2. It was late. I found nobody in the house.
3. I think there is something wrong with my watch.
V.
Прочитайте, перепишите следующие предложения, подчеркните в них
глагол-сказуемое и определите его видовременную форму, указав его
инфинитив. Переведите предложения на русский язык.
Образец выполнения 2:
Lomonosov founded the first Russian
Ломоносов основал первый русский
University in Moscow.
университет в Москве.
Founded - Past Indefinite Active от стандартного глагола to found.
1. The Federal bureaucracy shapes and implements federal policy.
2. We are currently experiencing a depression.
3. Tremendous changes have taken place in the world for the past 30 years.
4. The development of management skills will not come about solely by reading books or attending courses.
5. In Britain tourism is now supporting about 1.4 million jobs.
VI. Прочитайте и письменно переведите следующий текст
As long as we live we continue to learn, and the education we receive when we are young helps us to continue learning. We are taught to read and write, and are taught many of the essential facts about the world and shown how to sort them out so that later in life we shall be able to find out things ourselves and not to ask other people.

The first teachers were fathers and mothers, but very early in the history of mankind children began to be taught by people other than their fathers and mothers. It is thought that schools first started in Egypt 5,000 to 6,000 years ago, and that it was the invention of writing, which made them necessary. Reading and writing were quite different from the skills used in everyday life, and writing made it possible to store up knowledge, which grew with each generation. Specially trained people were therefore needed to teach it.

In Great Britain the first teachers we read about were craftsmen. They taught children to read, write and count, to cook and mend their own shoes. The teacher could manage-a class of 100 or more by using older pupils or "monitors"to help him.
ВАРИАНТ 2.
I. Прочитайте, перепишите и переведите на русский язык следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием —S и какую функцию это окончание выполняет, т.е. служит ли оно:

1. показателем   3-го   лица   единственного   числа   глагола   в   Present Indefinite;
2. признаком множественного числа имени существительного;
3.
показателем притяжательного падежа имени существительного.
(См. образец выполнения 1 в варианте 1)
1. Changes happen very quickly here.
2. He owns a big car.
3. The sun's rays reach the Earth's surface trough space.
4. They made a two hours' journey in a train, which stopped at every station.
5. Man's flights to the moon and his safe return to the earth have now left the realm of science fiction.
II.
Прочитайте, перепишите следующие предложения и переведите их,
обращая внимание на особенности перевода на русский язык оборота there +
be.
1. There is an official celebration on the day.
2. There were times when Martin was in great need of money.
3. There has been much said recently concerning dissatisfaction with computer installations.
III.
Прочитайте, перепишите и переведите данные предложения, содержа​
щие разные формы сравнения.
1. The main trend in our time is towards a healthier political climate in the world.
2. The higher an engineer moves up in an organization, the broader his base of contacts is.
3. The firm has safety equipment to meet the toughest everyday problems.
4. The temperature today is not so high as it was yesterday.
5. I paid for the book half as much as for the dictionary.
IV.
Перепишите и переведите предложения на русский язык, обращая
внимание на перевод неопределенных и отрицательных местоимений.
1. She helped him borrow some more money.
2. Will you bring anyone with you or will you come alone?
3. Anything is better than nothing in a situation like this.
V.
Прочитайте, перепишите следующие предложения, подчеркните в них
глагол-сказуемое и определите его видовременную форму, указав его инфини​
тив. Переведите предложения на русский язык.
(См. образец выполнения 2 в варианте I)
1. Families in which the husband works while the wife stays at home are no longer in the majority in the US..
2. This technique is now starting to be applied on an increasing scale..
3. When we got to the theater the play had already started.
4. Table I shows the improvement that has taken place in this area over the years since 1990.
5. The cost of power has always tended to increase.
VI.
Прочитайте и письменно переведите следующий текст"
New York is a city where all the languages of the world are spoken and where people live on the ground, travel under the ground and work in the sky.
New York makes a great impression on all visitors because of its many high buildings, its theatres, museums and hotels, its beautiful bridges, and its expensive shops with their fabulous prices.
The first permanent white settlers came to New York from Holland in 1626. These Dutch settlers bought all of Manhattan Island from the Indians for the equivalent of twenty-five dollars, while today some of this land costs a million dollar an acre. This island is the heart of the city.
It is on the Manhattan Island that most of the skyscrapers are located. This island is connected by six long bridges, as well as by tunnels and ferries, with the other four districts that constitute New York City.
New York is the largest city in the United States. Today there are more people living in the New York City than in Australia, Peru or Sweden.
For transportation New York depends mainly on buses, the subway, taxis and ferries. The buses are slow because of the crowded streets, whereas the subway trains can go as fast as railroad trains.
New York moves vertically as well as horizontally taking its people by elevator to their offices on the fortieth, sixtieth, and eightieth floor.
New York is the richest and the poorest, the most modern and the most old-fashioned of the cities.
ВАРИАНТ 3.
I. Прочитайте, перепишите и переведите на русский язык следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -S и какую функцию это окончание выполняет, т.е. служит ли оно:
1. показателем    3-го   лица   единственного   числа   глагола   в   Present Indefinite;
2. признаком множественного числа имени существительного;
3.
показателем притяжательного падежа имени существительного.
(См. образец выполнения 1 в варианте 1)
1. The lift door opens with some delay.
2. He owns a big car.
3. The sun's rays reach the Earth's surface through a space with a great speed.
4. He was eager to see Dennis who was at the boys' camp somewhere.
5. These are the books he wants so much to complete his father's library.
II. Прочитайте, перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык оборота there + be.
1. There is an incredible waste of raw materials in the country.
2. There have been more than 200 test explosions in the South Pacific islands since 1946.
3. There will be a critically widening gap between supply and demand for petroleum in the country.
III.
Прочитайте, перепишите и переведите данные предложения,
содержащие разные формы сравнения.
1. The Trans-Siberian railway is the longest in the world.
2. Natural resources and energy are getting scarcer and more expensive.
3. The larger the corporation is, the better it is managed generally.
4. My dictionary is not so good as yours.
5. The letter must be as short as possible.
IV.
Перепишите и переведите предложения на русский язык, обращая
внимание на перевод неопределенных и отрицательных местоимений.
1. Go and ask him for some more paper. I haven't any in my desk.
2. He looked at the pictures and did not say anything.
3. Nobody has any right to interfere in this matter.
V.
Прочитайте, перепишите следующие предложения, подчеркните в них
глагол-сказуемое и определите его видовременную форму, указав его инфини​
тив. Переведите предложения на русский язык.
(См. образец выполнения 2 в варианте 1)
1. Indeed, with only about 6 percent of the world's population the USA uses about 30 percent of the world's energy.
2. Historically Europe has depended on USA grain and minerals but Europe has now become a major grain exporter.

3. Russia is counting on Western help as it tries to shift to a market-driven economy.
4. He will have no basis for an estimate of oil potential until we have drilled it.
5. News had traveled about the world long before newspapers appeared.
VI.
Прочитайте и письменно переведите следующий текст.
London suffered two awful tragedies, at first - the Great Plague and then the Great Fire. In a few months nearly 100,000 people, that is 1/5 of the population died because of the Plague. Sorrow and sadness sat upon every Londoner. And only winter and its cold saved the city and the people.
The Great Fire happened through carelessness of a young baker who left a small bundle of wood near a very hot oven. In a few hours all the houses made of wood were burning like paper. That fire destroyed 3000 houses and at least 97 churches.
Fortunately the wind soon stopped and then heavy rain fell. Thus London was saved.
1. Officials are worried that demonstrations may become bigger and more violent.
2. The greater the rate of growth of the economy, the greater the increase in the level of well-being.
3. Most companies are seeking to employ their capital to its fullest extent in business.
4. My trunk is half the weight of yours.
5. He is not as strong as his brother.
IV.
Перепишите и переведите предложения на русский язык, обращая
внимание на перевод неопределенных и отрицательных местоимений.
1. There is hardly any place in this house where we can talk alone.
2. When we get there it may be too late to do anything.
3. Somebody has been here before us.
V.
Прочитайте, перепишите следующие предложения, подчеркните в них
глагол-сказуемое и определите его видовременную форму, указав его
инфинитив. Переведите предложения на русский язык.
(См. образец выполнения 2 в варианте 1)
1. In the winter months the queue to this museum thins out.
2. Japan is stepping in to take over leadership in this field.
3. Prices have changed dramatically over the past two years.
4. He went to the telephone and called the Canadian Prime Minister with whom he had dinned the night before.
5. He will have done everything by Monday morning.
VI.
Прочитайте и письменно переведите следующий текст.
The word smog comes from smoke and fog. Smog is a sort of fog with other substances mixed in. Smog has been here for a long time. Billions of years ago volcanoes sent millions of tons of ash and smoke into the air. Winds whipped up dust clouds. Animal and vegetable matter decayed adding polluting gases.
When people came along they began to produce their own kind of air pollution. They discovered fire. In the Middle Ages people in cities such as London used soft coal to heat their homes. The smoke from these fires combined with moisture in the air produced dense layers of smog. The smog would blanket the city for days particularly in winter. The heat generated in large cities tends to circulate air within a dome like shape. This traps the smog and holds it over the city.
Smog and the chemicals and other substances in it can be harmful even deadly. Smog blurs vision. It irritates the eyes, the throat and the lungs. Eyes water, throat get sore, people cough. Smog can make people ill. And it can make sick people sicker. Air pollution has also a harmful effect on the environment. Food crops and animals
1. Officials are worried that demonstrations may become bigger and more violent.
2. The greater the rate of growth of the economy, the greater the increase in the level of well-being.
3. Most companies are seeking to employ their capital to its fullest extent in business.
4. My trunk is half the weight of yours.
5. He is not as strong as his brother.
IV.
Перепишите и переведите предложения на русский язык, обращая
внимание на перевод неопределенных и отрицательных местоимений.
1. There is hardly any place in this house where we can talk alone.
2. When we get there it may be too late to do anything.
3. Somebody has been here before us.
V.
Прочитайте, перепишите следующие предложения, подчеркните в них
глагол-сказуемое и определите его видовременную форму, указав его
инфинитив. Переведите предложения на русский язык.
(См. образец выполнения 2 в варианте 1)
1. In the winter months the queue to this museum thins out.
2. Japan is stepping in to take over leadership in this field.
3. Prices have changed dramatically over the past two years.
4. He went to the telephone and called the Canadian Prime Minister with whom he had dinned the night before.
5. He will have done everything by Monday morning.
VI.
Прочитайте и письменно переведите следующий текст.
The word smog comes from smoke and fog. Smog is a sort of fog with other substances mixed in. Smog has been here for a long time. Billions of years ago volcanoes sent millions of tons of ash and smoke into the air. Winds whipped up dust clouds. Animal and vegetable matter decayed adding polluting gases.
When people came along they began to produce their own kind of air pollution. They discovered fire. In the Middle Ages people in cities such as London used soft coal to heat their homes. The smoke from these fires combined with moisture in the air produced dense layers of smog. The smog would blanket the city for days particularly in winter. The heat generated in large cities tends to circulate air within a dome like shape. This traps the smog and holds it over the city.
Smog and the chemicals and other substances in it can be harmful even deadly. Smog blurs vision. It irritates the eyes, the throat and the lungs. Eyes water, throat get sore, people cough. Smog can make people ill. And it can make sick people sicker. Air pollution has also a harmful effect on the environment. Food crops and animals
suffer. Paint may peel from houses. It is obvious that we must do everything possible to reduce man-made atmospheric pollutants and smog.
ВАРИАНТ 5.
I. Прочитайте, перепишите и переведите на русский язык следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -S и какую функцию это окончание выполняет, т.е. служит ли оно:
1. показателем   3-го   лица   единственного   числа   глагола   в   Present Indefinite;
2. признаком множественного числа имени существительного;
3.
показателем притяжательного падежа имени существительного.
(См. образец выполнения 1 в варианте 1)
1. Changes happen very quickly here.
2. He owns a big and nice house.
3. The sun's rays are the source of the Earth's life.

4. I am sure he knows far more about their country's history than they do.
5. It was a habit of John's not to tell you things and then assume that you know all about them.
II.
Прочитайте, перепишите следующие предложения и переведите их,
обращая внимание на особенности перевода на русский язык оборота there +
be.
1. There is an official celebration on the day.
2. There were times when we were in great need of money.
3. There has been much said recently concerning dissatisfaction with computer installations.
III.
Прочитайте, перепишите и переведите данные предложения, содержа​
щие разные формы сравнения.
1. The main trend in our time is towards a healthier political climate in the world.
2. The higher an engineer moves up in an organization, the broader his base of contacts is.
3. The firm has safety equipment to meet the toughest everyday problems.
4. Our office is not as large as theirs.
5. He has twice as many books as I.
IV.
Перепишите и переведите предложения на русский язык, обращая
внимание на перевод неопределенных и отрицательных местоимений.
1. She helped him borrow some more money.
2. Will you bring anyone with you or will you come alone?
3. Anything is better than nothing in a situation like this.
V.
Прочитайте, перепишите следующие предложения, подчеркните в них
глагол-сказуемое и определите его видовременную форму, указав его инфини​
тив. Переведите предложения на русский язык.
(См. образен выполнения 2 в варианте 1)
1. Families in which the husband works while the wife stays at home are no longer in the majority in the USA.
2. This technique is now starting to be applied on an increasing scale.
3. When we got to the theater the play had already started.
4. If the book costs 20 DM to produce, its price will have doubled by the time it makes its way to the local bookstore.
5. I shall be back at five. I hope you will have had a good rest by that time.
VI.
Прочитайте и письменно переведите следующий текст
Smog along with smoke is the most visible evidence of atmospheric pollution. But some atmospheric pollution is not visible and may not become visible until it is mixed with moisture. Lead compounds from leaded gasoline, hydrocarbons (unburned gasoline), carbon monoxide and pother gases may pollute the air without being seen. All air is polluted to some extent. That is, all air carries some polluting substances. Many of them are natural: smoke and ash from volcanoes, dust stirred up by wind, compounds given off by growing vegetation, gases given off by rotting animals and vegetable matter, salt particles from oceans, and so on.
Man adds to these pollutants by burning coal, oil, gas, gasoline and many other things. For example, fuels such as coal, gasoline, and wood contain hydrogen and carbon in various chemical combinations. During combustion oxygen unites with the hydrogen and carbon to form water (H20), carbon monoxide (CO) and carbon dioxide (C02).
In addition, many fuels contain sulfur that burns to produce sulftir oxides. Also, in the heat of combustion some of the nitrogen in the air combines with oxygen to form nitrogen oxides (NO2). Some of the fuel may not burn completely, so that smoke and ash are formed. Smoke is simply particles of unburned fuel and soot called particulates mixed with air.
Контрольное задание 2.
Для выполнения контрольного задания 2 необходимо проработать следую​щие разделы курса:
1. Модальные глаголы и их эквиваленты.
2. Система времен в пассивном залоге.
3. Особенности употребления пассивного залога в английском языке по сравнению с русским.
4. Многофункциональность глаголов to be и to have.
ВАРИАНТ 1.
I. Прочитайте и перепишите следующие предложения, подчеркните в каждом из них модальный глагол. Переведите письменно эти предложения на русский язык.
1. If the market becomes too saturated, demand may drop off.
2. Scientists could not make a detailed examination of the environmental damage.
3. Visitors should not be shown around the plant.
4. Workers must be allowed to choose the form of organization that expresses their view.
5. In all that people can individually do for themselves, government ought not to interfere. (A.Lincoln).
II.
Прочитайте и перепишите приведенные ниже предложения, подчерк​
ните в каждом из них синоним или эквивалент модального глагола. Определите
модальный глагол, синонимом или эквивалентом которого он является. Переве​
дите предложения на русский язык.
Образец выполнения 1:
These machines are to replace the old Эти механизмы должны
equipment of our shop.
заменить старое оборудование
нашего цеха Are to   - синоним модального глагола сап в Present Indefinite Active, мн. число.
1. Presidents have to use their large staff to help them become aware of different ideas around the country.
2. Top management now is to spend an increasingly greater proportion of its time on people, rather than machines, methods, or money.
3. Young and well-trained workers will be able to adapt to such a system.
4. Experts are not allowed to overlook such a serious mistake.
5. The batteries are not to be kept uncharged.
III.
Прочитайте и перепишите приведенные ниже предложения. Подчерк​
ните в каждом из них глагол в Passive Voice, проанализируйте данные глаголы
и письменно переведите эти предложения на русский язык.
Образец выполнения 2:
The following examples were made use of.      Были использованы следующие
примеры. Were made - Past Indefinite Passive от нестандартного глагола to make.
1. The wages these workers earn are paid out of the Federal Government funds.
2. Over 21 million people were aided.
3. When various parts were being assembled, certain shortcomings in the design became apparent.
4. Real wages have been cut in half in the last 10 years.
5. All candidates are questioned on topics they have chosen themselves.
IV.
Прочитайте и перепишите следующие предложения. Подчеркните в них
глаголы to be, to have. Определите по грамматическим признакам, являются ли
указанные глаголы: а) смысловыми; б) вспомогательными; в) эквивалентами
или синонимами модального глагола (и какого); г) глаголом-связкой.
1. The Japanese have much to offer in management to human systems.
2. These industries are moving into the early stages of recovery from recession.
3. The agent was to ship the goods immediately.
4. The instrument box is heavy.
V.
Перепишите предложения с выделенными в них словами и переведите
данные предложения, обращая внимание на перевод выделенных словосоче​
таний.
1. It was Mrs. Presley's doctor who prescribed her the medicine.
2. It was a sound of footsteps that arouse her from the dreamy state.

3. He had neither books nor journals with him.
4. Quite suddenly both Rosemary and Antonia noticed a movement in the garden.
5. You may get there either by tram or by bus.
VI.
Прочитайте и письменно переведите следующий текст
Los Angeles is a large city set in a basin with about 7,000,000 inhabitants. It is surrounded on three sides by mountains and on the fourth one by the Pacific Ocean. When the wind blows out over the ocean it sweeps away pollutants. But at other times the air is stagnant. Smoke and other pollutants from industry and automobiles do not blow away. They just build up into a thick, smelly, foggy layer of smog. The location of Los Angeles plus all the people and industry there make it one of the biggest "smog center" in the country. And it is Los Angeles, which has led in measures to reduce smog.
Los Angeles has banned unrestricted burning, for example, burning trash. Incinerators without pollution controls were outlawed. Industry was forced to change combustion processes and add controls to reduce pollutants coming from their chimneys. Laws were passed that required the addition of emission controls on automobiles. All these measures have significantly reduced atmospheric pollution in the Los Angeles area.
If not controlled, the automobile can give off pollutants from four places. Pollutants can come from the fuel tank and carburetor. Pollutants from the crankcase
consist of partly burned air-fuel mixture that has blown by the piston ring. Pollutants from the tail pipe consist of partly burned gasoline (HC). carbon monoxide (CO), nitrogen oxide (N02), and - if there is sulfur in the gasoline - sulfur oxides (S02).
ВАРИАНТ 2.
I. Прочитайте и перепишите следующие предложения, подчеркните в каждом из них модальный глагол. Переведите письменно эти предложения на русский язык.
1. No one can ever tell when he is being serious and when he is joking.
2. After 2000 other fuels must pick up an increasing share of the energy load from petroleum.
3. The teacher said they could all go home.
4. Some of those views may be of some value to others.
5. Every task should be done by the most junior person who can handle it competently.
II.
Прочитайте и перепишите приведенные ниже предложения,
подчеркните в каждом из них эквивалент модального глагола. Определите мо​
дальный глагол, эквивалентом которого он является. Переведите предложения
на русский язык.
(См. образец выполнения 1 в варианте 1.)
1. When oil shipment from the Middle East ended, American motorists had to wait in long lines to purchase gasoline.
2. Nearly 1,000 workers are to lose their jobs in a series of redundancies announced yesterday.
3. People in other lands who have suffered from earthquakes and other natural disasters or who face starvation from food shortage have been able to look to the United Sates for help in these emergencies.
4. Tutors and teachers are not allowed to raise voices at their pupils and students.
5. Old machinery is to be replaced next month.
III.
Прочитайте и перепишите приведенные ниже предложения.
Подчеркните в каждом из них глагол в Passive Voice, проанализируйте данные
глаголы и письменно переведите эти предложения на русский язык.
(См. образеи выполнения 2 в варианте 1.)
1. Yesterday the student protest was joined by about 200 local journalists.
2. Computers are now being used to compile information on numerous social problems existing in our society.
3. Much has been said recently about air pollution and its effect on the environment.
4. The journal is meant to interest businessmen as well as economists.
5. The Labor Party in England has been elected to power several times since the 1920s.
IV.
Прочитайте и перепишите следующие предложения. Подчеркните в них
глаголы to be, to have. Определите по грамматическим признакам, являются ли
указанные глаголы: а) смысловыми; б) вспомогательными; в) эквивалентами
или синонимами модального глагола (и какого); г) глаголом-связкой.
1. The company has its own forging and casting facilities.
2. Over the decade or so there has been a tremendous upsurge of interest in marketing.
3. Americans will have to make deep changes in perspective.
4. Since  1999 this company has been developing sophisticated computer techniques.

V.
Перепишите предложения с выделенными в них словами и переведите
данные предложения, обращая внимание на перевод выделенных словосоче​
таний.
1. It was Gemma who returned with milk to make coffee for Gadfly.
2. It is Yasnay Polayna where the great Russian writer Leo Tolstoy was born.
3. Neither Mr. Pickwick nor his three companions noticed a stranger nearby.
4. Both rain and wind were sharp and cold.   •
5. The mirror was so small that she could see either one half of her face or the other one.
VI.
Прочитайте и письменно переведите следующий текст
Man has always been a builder. The kind of house he built depended upon the climate, upon his enemies, and upon the building materials at hand. The first houses in many parts of the world were made of wood, for in those days the greater part of the Earth was covered with forests. Men tied together the tops of several trees and covered them with the skin of animals or with leaves and grass. So a tent or a hut was the first house of the primitive people who lived where there was mush wood.
In other regions the most convenient building material was stone. Men began building houses out of stones very long ago. Although they were built without cement, the remains of a few of them still exist.
The 20th century is notable for widespread use of steel - reinforced concrete. Huge reinforced concrete units manufactured in heated factory premises are brought to the site, which becomes sometimes like an assembly shop. This technique has many advantages over other building methods. First of all it cuts the labor needed for building 60 to 70 % and extends the building season what is very important for countries where winter lasts for many months. Furthermore the duration of building is greatly cut. All this makes the building process expensive and much less laborious.
Very high buildings - particularly skyscrapers, characterize architecture of the 20th century and by great diversity of styles which completely differ from those of the past.
ВАРИАНТ 3.
I. Прочитайте и перепишите следующие предложения, подчеркните в каж​дом из них модальный глагол. Переведите письменно эти предложения на рус​ский язык.
1. These problems can be largely overcome by use of high-speed digital computers.
2. I have told you this so you may take precautions.
3. It is widely agreed that macro-scale manpower planning must be linked to economic planning and education planning.
4. You ought to have told us about it, now we don't know what we should do.
5. The aim of automation should not be to eliminate jobs, but to improve the quality of life.
II.
Прочитайте и перепишите приведенные ниже предложения,
подчеркните в каждом из них эквивалент модального глагола. Определите мо​
дальный глагол, эквивалентом которого он является. Переведите предложения
на русский язык.
(См. образец выполнения 1 в варианте 1.)
1. Reward and recognition are to be in the form of advancement and higher salaries.
2. Training in the management sciences and operation research has to be emphasized in business schools.
3. Cindy was not able to laugh aloud. Instead, she nodded.
4.
Company employees have been allowed to purchase some of its stocks.
5.
Hundreds of factories making machines and equipment are to change to
consumer goods production next year.
III.
Прочитайте и перепишите приведенные ниже предложения.
Подчеркните в каждом из них глагол в Passive Voice, проанализируйте данные
глаголы и письменно переведите эти предложения на русский язык.
(См. образен выполнения 2 в варианте 1.)
1. In Australia English is spoken by more than 99 per cent of the population.
2. The ability of an economy to respond flexibly to external market forces has been referred to as its ability to adjust.
3. In view of personnel shortages, the construction plans are not being fulfilled.
4. His proposal may be objected to.
5. New information should not be ignored.
IV.
Прочитайте и перепишите следующие предложения. Подчеркните в них
глаголы to be, to have. Определите по грамматическим признакам, являются ли
указанные глаголы: а) смысловыми; б) вспомогательными; в) эквивалентами
модального глагола (и какого); г) глаголом-связкой.
1. The primary goal in implementing the change is to minimize risk.
2. She was asked her opinion on the Equal rights Amendment.
3. The office block was not far from the metro station.
4. France's steel monopolies are using the same tactics as their US and Britain counterparts.
V.
Перепишите предложения с выделенными в них словами и переведите
данные предложения, обращая внимание на перевод выделенных
словосочетаний.
1. It is English that has become an international communication language.
2. It was Eleanor who produced her arm to him first.
3. Neither in the sitting room nor in the other rooms there was anybody in the apartment.
4. Both storm and heavy snow rushed over the town.
5. They skid either in a forest or in the wood nearby.
VI.
Прочитайте и письменно переведите следующий текст
In ancient Russia architecture flourished for the first time in the Kiev Russ. Unfortunately only a few of the church buildings of that period have remained, among them the famous Cathedral of St. Sophia, the cornerstone of which was laid in 1037 to commemorate the victory over the Pechenegs. The churches of that time were strong buildings with thick walls and small windows. They often had to serve as fortresses against enemy invasions. During the Second World War the finest ancient architectural monuments were destroyed and great effort has gone into restoring them.
In the Middle Ages in Europe numerous wars between different nations caused great damages to the houses of crowded medieval towns. Therefore many monarchs and nobles built castles as a form of defense. Those castles had very strong walls, narrow windows and projecting fortifications.
The Renaissance, which was a European movement, lasted roughly from the 14,h to the 17th century. During that period arts and sciences underwent great changes. In architecture those changes were marked by a return to classical forms and proportions of ancient Roman buildings.
Buildings of the 19th century are characterized by the use of new materials and by a great diversity of architectural styles. From the end of the 18th century iron and steel became widely used as alternatives to wood, for by that time many countries experienced shortage of that material. Later the Industrial Revolution brought mass-
production of construction elements that were manufactured at a factory and then simply assembled at a site.
ВАРИАНТ 4.
I.
Прочитайте и перепишите следующие предложения, подчеркните в
каждом из них модальный глагол. Переведите письменно эти предложения на
русский язык.
1. An  employee   should   know   his  salary  range  and   whether  his   pay   is competitive with the others at his level in the community.
2. We ought to have massive retraining programs about the computers for present teachers.
3. The same number of officials who ran a country of 50 million people cannot govern a country of 230 million people.
4.
Both large and small firms may follow these regulations.
5.
Any engineering product must meet some needs and be available at an
economic price.
II.
Прочитайте и перепишите приведенные ниже предложения,
подчеркните в каждом из них эквивалент модального глагола. Определите
модальный глагол, эквивалентом которого он является. Переведите предложе​
ния на русский язык.
(См. образец выполнения I в варианте 1.)
1. There arc many other economic relationships that have to be taken into consideration.
2. The world changes and we are to change with it.
3. New  office block  is not allowed  to  build  without  a  local  authorities' authorization.
4. We were able to discharge the steamer in twenty-four hours.
5. Enterprises are not permitted to pollute without regard to the long-term consequences.
III.
Прочитайте и перепишите приведенные ниже предложения.
Подчеркните в каждом из них глагол в Passive Voice, проанализируйте данные
глаголы и письменно переведите эти предложения на русский язык.
(См. образец выполнения 2 в варианте 1.)
1. Various topics are dealt with in the book.
2. The Stone Age was followed by the Age of Bronze.
3. The electric motor may be relied upon, for it is of the latest design.
4.
Denver is a clean city, residential areas are well spaced and beautifully
landscaped.
5.
Few lives have not been affected by the personal computer in one way or
another.
IV.
Прочитайте и перепишите следующие предложения. Подчеркните в них
глаголы to be, to have. Определите по грамматическим признакам, являются ли
указанные глаголы: а) смысловыми; б) вспомогательными; в) эквивалентами
модального глагола (и какого); г) глаголом-связкой.
1. One assumes that if one has the genetic endowment for creativity, it will express itself, no matter what obstacles there are.
2. Mobile Corporation is the third largest US industrial corporation in terms of assets, behind Exon and General Motors.
3. The museum is well worth a visit.
4. The performance of each leader was to be measured only by the results achieved.
V.
Перепишите предложения с выделенными в них словами и переведите
данные предложения, обращая внимание на перевод выделенных словосоче​
таний.
1. It was he who was extremely considerate to a poor girl.
2. It was the Japanese artillery bombarding that the General listened to that evening.
3. Neither the children nor their parents were kind and polite to Oliver.
4. Both uncle Titus and his brother-in-law rose from the sofa and placed a chair for her to sit down upon.
5. Either a minute or two passed and there was a sound of whistle.
VI.
Прочитайте и письменно переведите следующий текст
One of the mankind's earliest and greatest inventions was the wheel. Without it there could be no industry, little transportation or communication, only crude farming, no electric power.
Nobody knows when the wheel was invented. There is no trace of the wheel during the Stone Age and the American Indians did not know it until the White Man came. In the Old World it came into use during the Bronze Age when horses and oxen were used as work animals. At first all wheels were solid discs.
The problem to be solved was to make the wheels lighter and at the same time keep them strong. At first holes were made in the wheels and they became somewhat lighter. Then wheels with spokes were made. Finally, the wheel was covered with iron and then with rubber.
Light two-wheeled carriages were used widely in the ancient world. As time passed they were made lighter, stronger and better. Later people joined together a pair of two-wheeled carts into a four-wheeled vehicle. At first only kings and queens had the privilege of driving in them.
In the West the first steam carriage was invented in France. The three-wheeled machine had the front wheel driven by a two-cylinder steam engine. It carried two
people along the road at a walking pace. It was not a great success, as the boiler did not produce enough steam for keeping the carriage going for more than about 15 minutes.
ВАРИАНТ 5.
I.
Прочитайте и перепишите следующие предложения, подчеркните в
каждом из них модальный глагол. Переведите письменно эти предложения на
русский язык.
1. Teachers should not be ill-educated people.
2. Chicago alone cannot solve all its budget problems without some federal help.
3. Aging may be programmed by changes in the brain.
4. Company assistant must be able to articulate these goals in a simple form to potential investors.
5. People ought to help each other.
II.
Прочитайте и перепишите приведенные ниже предложения,
подчеркните в каждом из них эквивалент модального глагола. Определите
модальный глагол, эквивалентом которого он является. Переведите предложе​
ния на русский язык.
(См. образец выполнения 1 в варианте 1.)
1. Unity has to be fought for consistently.
2. An economic shock program is to be well prepared and comprehensive.
3.
The President of the agency is able to appoint as well as to fire the agency
heads.
4. Training courses are permitted to attend freely.
5. He is not able to run a company.
III.
Прочитайте и перепишите приведенные ниже предложения.
Подчеркните в каждом из них глагол в Passive Voice, проанализируйте данные
глаголы и письменно переведите эти предложения на русский язык.
(См. образен выполнения 2 в варианте 1.)
1. They were given only three tickets instead of five..
2. The parade will be followed by a rally.
3. He ^as not been heard of since September.
4. In the present conditions the task of overcoming the budget imbalance is being put into the foreground.
5. Both courses will be run over nine weeks with attendance one night a week.
IV.
Прочитайте и перепишите следующие предложения. Подчеркните в них
глаголы to be, to have. Определите по грамматическим признакам, являются ли
указанные глаголы: а) смысловыми; б) вспомогательными; в) эквивалентами
модального глагола (и какого); г) глаголом-связкой.
1. It is clear that the UK is going to have to face up to two major challenges within the next decade - new technologies and growing industrialization in the third World.
2. Concern about environment, concern about safety and health have greatly increased the direct impact of the public on business activities.
3. The real problem is to ensure that no banks indulge in bad banking practice.
4. Sound management skills are to become a basic necessity.
V.
Перепишите предложения с выделенными в них словами и переведите
данные предложения, обращая внимание на перевод выделенных словосо​
четаний.
1. It was Paul who entered tentatively after knocking and getting no reply.
2. It was the sound of the telephone ringing that woken every nerve of his body.
3. Neither your mother nor me like to think of you going into danger.
4. I hate people smoking either cigarettes or pipes in my presence.
5. She was so much afraid that she leaned against the wall, both her knees and arms shaking.
VI.
Прочитайте и письменно переведите следующий текст
The steam engine appeared in 1763. Several improved steam road carriages followed it. Railway companies prevented their further development. The rapid spread of railways in the United Kingdom was largely due to George Stephenson who was an enthusiast as well as a brilliant engineer.
He demonstrated a locomotive that could run eighteen kilometers an hour and carry passengers cheaper than horses carried them. Eleven years later Stephenson was operating a railway between Stockton and Darlington. The steam locomotive was a success.
In Russia the tsar's government showed little interest in railway transportation. After long debates the government that did not believe in its own engineers finally decided to invite foreign engineers to submit projects for building railways in Russia.
Yet at the very time when foreign engineers were submitted their plans in the Urals a steam locomotive was actually in use. It had been invented and built by the Cherepanovs, father and son, both skilful mechanics and serfs. The first Russian locomotive was, of course, a "baby" compared with the locomotives of today. Under the boiler there were two cylinders that turned the locomotive's two- driving wheels (there were four wheels in all). At the front there was a smoke stack, while at the back there was a platform for the driver.
Контрольное задание 3.
Для выполнения контрольного задания 3 необходимо проработать следую​щие разделы курса.
1. Инфинитив, формы и функции.
2. Причастие, формы и функции.
3. Герундий, формы и функции.
ВАРИАНТ 1.
I. Прочитайте и перепишите следующие предложения. Подчеркните в них инфинитив и определите его форму и функцию. Переведите предложения на русский язык. Образец выполнения 1:
Не stopped so as to talk to me after
Он остановился, чтобы поговорить
the lecture.
со мной после лекции.
То talk - Indefinite Infinitive Active, функция обстоятельства цели.
1. То widen the bilateral trade is of great benefit for both countries.
2. A Japanese electronic firm claims to have made a big advance in the world race to develop a fifth-generation computer.
3. To remain competitive the company cannot raise prices.
4. The first thing to determine is that demand-is not the same thing as desire, or need, or want.
II.
Прочитайте и перепишите следующие предложения. Подчеркните в них
причастия I и II, определите их форму и функцию. Переведите предложения на
русский язык.
Образец выполнения 2:
Discharging the ship we found a few
Разгружая судно, мы обнаружили
broken cases.
несколько поломанных ящиков.
Discharging - Participle I, Indefinite Active, функция обстоятельства. Broken - Participle II, Indefinite Active, функция определения.
1. Arriving at the airport the heads of Government usually make a short statement.
2. The environment of the United Kingdom is basically good and has been getting steadily better.
3. The symbols generally accepted are used with little or no explanation.
4. The book will be here until asked for.
III.
Прочитайте и перепишите следующие предложения. Подчеркните в них
герундий, определите его форму и функцию. Переведите предложения на рус​
ский язык.
IV.
Прочитайте и перепишите следующие предложения. Подчеркните в них
глаголы to be. to have. Определите по грамматическим признакам, являются ли
указанные глаголы: а) смысловыми; б) вспомогательными; в) эквивалентами
модального глагола (и какого); г) глаголом-связкой.
1. It is clear that the UK is going to have to face up to two major challenges within the next decade - new technologies and growing industrialization in the third World.
2. Concern about environment, concern about safety and health have greatly increased the direct impact of the public on business activities.
3. The real problem is to ensure that no banks indulge in bad banking practice.
4. Sound management skills are to become a basic necessity.
V.
Перепишите предложения с выделенными в них словами и переведите
данные предложения, обращая внимание на перевод выделенных словосо​
четаний.
1. It was Paul who entered tentatively after knocking and getting no reply.
2. It was the sound of the telephone ringing that woken every nerve of his body.
3. Neither your mother nor me like to think of you going into danger.
4. I hate people smoking either cigarettes or pipes in my presence.
5. She was so much afraid that she leaned against the wall, both her knees and arms shaking.
VI.
Прочитайте и письменно переведите следующий текст
The steam engine appeared in 1763. Several improved steam road carriages followed it. Railway companies prevented their further development. The rapid spread of railways in the United Kingdom was largely due to George Stephenson who was an enthusiast as well as a brilliant engineer.
He demonstrated a locomotive that could run eighteen kilometers an hour and carry passengers cheaper than horses carried them. Eleven years later Stephenson was operating a railway between Stockton and Darlington. The steam locomotive was a success.
In Russia the tsar's government showed little interest in railway transportation. After long debates the government that did not believe in its own engineers finally decided to invite foreign engineers to submit projects for building railways in Russia.
Yet at the very time when foreign engineers were submitted their plans in the Urals a steam locomotive was actually in use. It had been invented and built by the Cherepanovs, father and son, both skilful mechanics and serfs. The first Russian locomotive was, of course, a "baby" compared with the locomotives of today. Under the boiler there were two cylinders that turned the locomotive's two- driving wheels (there were four wheels in all). At the front there was a smoke stack, while at the back there was a platform for the driver.
Контрольное задание 3.
Для выполнения контрольного задания 3 необходимо проработать следую​щие разделы курса.
1. Инфинитив, формы и функции.
2. Причастие, формы и функции.

3. Герундий, формы и функции.
ВАРИАНТ 1.
I. Прочитайте и перепишите следующие предложения. Подчеркните в них инфинитив и определите его форму и функцию. Переведите предложения на русский язык. Образец выполнения 1:
Не stopped so as to talk to me after
Он остановился, чтобы поговорить
the lecture.
со мной после лекции.
То talk - Indefinite Infinitive Active, функция обстоятельства цели.
1. То widen the bilateral trade is of great benefit for both countries.
2. A Japanese electronic firm claims to have made a big advance in the world race to develop a fifth-generation computer.
3. To remain competitive the company cannot raise prices.
4. The first thing to determine is that demand-is not the same thing as desire, or need, or want.
II.
Прочитайте и перепишите следующие предложения. Подчеркните в них
причастия I и II, определите их форму и функцию. Переведите предложения на
русский язык.
Образец выполнения 2:
Discharging the ship we found a few
Разгружая судно, мы обнаружили
broken cases.
несколько поломанных ящиков.
Discharging - Participle I, Indefinite Active, функция обстоятельства. Broken - Participle II, Indefinite Active, функция определения.
1. Arriving at the airport the heads of Government usually make a short statement.
2. The environment of the United Kingdom is basically good and has been getting steadily better.
3. The symbols generally accepted are used with little or no explanation.
4. The book will be here until asked for.
III.
Прочитайте и перепишите следующие предложения. Подчеркните в них
герундий, определите его форму и функцию. Переведите предложения на рус​
ский язык.
1. Before making your purchases find out as much as you can about the vendor.
2. Extensions are being made to the factory with a view to increasing the output.
3. Having these papers in one volume is convenient.
4. Being a good organizer and manager is fine and it helps in any business.
IV.
Прочитайте и перепишите следующие предложения. Переведите
данные предложения, обращая внимание на слова-заменители that и one.
1. Increased attention is being given to the chemistry of coal, which is more complex than that of petroleum.
2. The criteria used for constructing these models in underdeveloped countries may be rather different from those customary used in the developed ones.
3. His function is essentially that of a coordinator.
4. The economy of San Marino is closely tied to that of Italy.
V.
Прочитайте и письменно переведите следующий текст
Experts estimate that in the 21st century we shall go by rocket from New York to Tokyo in 30 minutes. We shall be able to reach any point on the globe from any other point through tunnels deep in the earth. The prospect is adventurous and exciting.
It is possible that within the next two or three decades we shall be riding in remote-controlled electronic cars.
Trips through metropolitan areas will be made on quiet, swift buses traveling on • separate express lines of city streets. Helicopters may carry whole buses loaded with passengers from point to point above city traffic. Soon helicopters may help solve the complicated problem of getting passengers from the center to the airport and back again.
Most of the advances in the air transportation will materialize within the next few years. The largest airplane ever designed for commercial services capable of seating nearly 500 passengers is already being built.
Supersonic transport prototypes now in development are forerunners of a new generation of 1,800 miles per hour passenger jetliner.
The "ideal" short-haul air transport is a vertical or short take-off and landing aircraft that can fly 30 to 45 passengers right into the heart of a city or its suburbs trips up to 260 miles.
Mankind has entered an age of high speeds, pressures and temperatures, which could be generated and withstood, only with the help of new and hitherto unknown materials.
ВАРИАНТ 2.
I. Прочитайте и перепишите следующие предложения. Подчеркните в них инфинитив и определите его форму и функцию. Переведите предложения на русский язык. Смотри образец выполнения 1:
1. То influence state affairs as well as getting a wage increase must be their goal.
2. To maintain a decent standard of living and at the same time to slow the skyrocketing of total energy use, there are three things we can and must do.
3. To make life easier for himself, man has tried to tame the forces of nature.
4. Noise has become a major problem of modern cities and efforts to get a law against it are now being made.
И. Прочитайте и перепишите следующие предложения. Подчеркните в них причастия I и II, определите их форму и функцию. Переведите предложения на русский язык. См. образец выполнения 2:
1. Coming back to the Earth after the first flights the cosmonauts were unable to leave the recovery cabin on their own.
2. Having been subjected to all the necessary tests the machine was accepted to serial production.
3. Everyone consulted agreed that there was a shortage of the graduates needed.
4. Every scientific problem solved gives us a number of new ones to puzzle us.
III.
Прочитайте и перепишите следующие предложения. Подчеркните в них
герундий, определите его форму и функцию. Переведите предложения на рус​
ский язык.
1. Two-thirds of state spending will be channeled into raising the standard of living.
2. It is often said that understanding a problem is half the solution.
3. It should be noted, however, that the principle trend on the world market is raising prices.
4. Falling consumption slows down business and leads to the depreciation of the companies' capital.
IV.
Прочитайте и перепишите следующие предложения. Переведите
данные предложения, обращая внимание на слова-заменители that и one.
1. Britain's interests largely coincide with those of the United States in regard to the protection of foreign investments and the penetration to overseas markets.
2. Another way to create a marketplace is to design a street to be one.
3. In 1990's the UK manufacturing productivity had grown more quickly than that of any of the main industrialized country.
4. Women have been given a status equal to that of men.
V. Прочитайте и письменно переведите следующий текст.
London airport is one of the most modern in the world and is a popular visiting place for both old and young. The airport covers over four square miles and the road round it is 13 miles long. The airport has five main runways: the longest is 12,000 feet. The total number of people who work at the airport is nearly 36,000. London airport is one of the busiest in the world ~ more than 50 airlines operate from it every week. Every day of the week in summer over 800 planes land or take off.
London airport is unique in its layout. All passengers and control buildings are in the center of the airport. The only way for passengers to approach these buildings is by tunnel that has been constructed under the main runway.
This great airport is famous for the efficiency of its service to the passengers who are continually traveling to all parts of the world. At the airport all luggage is mechanically handled. This is done by a system of conveyer belts that enables the passengers to pass this great airport with ease.
The cost of making such an airport was approximately 20 million but more will be spent before the work is completed. Each year money is needed for the development of the airport to accommodate great new transatlantic aircraft. Runways have to be lengthened to enable these airplanes to take off with their heavy loads.
One of the big attractions at London airport is the Roof Gardens, which are open to visitors who wish to see how a modern airport operates. The Roof Gardens give a view of the whole airport. From the Roof Gardens one can see all the aircraft landing and taking off. If you have your own camera you can take a lot of exciting pictures.
ВАРИАНТ 3.
I.
Прочитайте и перепишите следующие предложения. Подчеркните в них
инфинитив и определите его форму и функцию. Переведите предложения на
русский язык.
Смотри образец выполнения 1:
1. То import coal from the United Sates is more practical for Canadian steel miles situated on the shore of the Lake Eria than to use domestic coal.
2. He asked to be shown the document.
3. To understand the present one has to know the past.
4. This was the ideal method to aim at.
II.
Прочитайте и перепишите следующие предложения. Подчеркните в них
причастия I и II. определите их форму и функцию. Переведите предложения на
русский язык.
См. образец выполнения 2:
1. A person can travel by a car through any country in Europe knowing internal road signs.
2. The decision being considered is that of investment in a large industrial project.
3. All parties concerned are present here.
4. Having exhausted internal resources researchers now turn to employers.
III.
Прочитайте и перепишите следующие предложения. Подчеркните в них
герундий, определите его форму и функцию. Переведите предложения на
русский язык.
1. Management is classically defined as getting things accomplished through other people.
2. Being an expert in a given field is becoming more and more difficult.
3.
Firms are concentrating on having the right people in the right jobs and are
paying to keep them there.
4.
Being able to accept some responsibility for what has happened is generally a
healthy sign.
IV.
Прочитайте и перепишите следующие предложения. Переведите
данные предложения, обращая внимание на слова-заменители that и one.
1. The problem is still one of managing the resources of a business - material, people, and money.
2. The economists are learning to integrate their efforts with those of engineers.
3. The Peruvian Amazon rainforest is second in size only to that of Brazil.
4. At least two new factors are present in great emphasis - one is the element of time, another one of planning.
V.
Прочитайте и письменно переведите следующий текст.
То connect the Isles of Great Britain to mainland Europe is a fantasy that can be dated back nearly 200 years. The first suggestion to construct a tunnel came from Napoleon in 1800. His engineers even drafted a tunnel plan but Britain and France were at war at that time.
In 1988 the question of a Channel Tunnel was studied afresh by a group of French and British engineers and the work actually began. They agreed to start boring for the Eurotunnel on both English and French Coasts.
The Tunnel runs under the sea through a layer of dense chalk that is known to be free of cracks and allows water to penetrate it slowly. The work proceeded very quickly and was successfully completed in about six years. The Tunnel was opened to traffic on May 7, 1994. Two main tunnels with service tunnel between carry one​way rail traffic.
Original estimate was 7.2 billion dollars at current exchange rate, but cost to date is 13.1 billion dollars shared between Britain, France and other investors. So far the project is not quite profitable and still needs more investments.
Cars and trucks carried by rail make crossing in 35 minutes, about an hour less than by ferry. Passengers remain in their vehicles.
The Tunnel personnel do their best to maker passengers feel comfortable and safer during the crossing. But as the commercial director of the Tunnel mentioned it, they still have many serious problems and one of them is security. Nevertheless, the authorities are sure to be able to solve all the problems successfully.
ВАРИАНТ 4.
I.
Прочитайте и перепишите следующие предложения. Подчеркните в них
инфинитив и определите его форму и функцию. Переведите предложения на
русский язык.
Смотри образец выполнения 1:
1. То increase productivity in manufacturing usually means decreasing the man-hours, materials, energy or capital required to produce industrial goods of all kinds.
2. He refused to be bothered with details.
3. My salary is hardly enough to live on.
4. He is familiar with the problem to be solved.
II.
Прочитайте и перепишите следующие предложения. Подчеркните в них
причастия I и II, определите их форму и функцию. Переведите предложения на
русский язык.
См. образец выполнения 2:
1. An increase of productivity by 25 per cent has been experienced using this method.
2. The delegation arriving tomorrow is headed by Foreign Minister.
3.
The rising Sun was hidden by clouds.
4.
The terms insisted upon are difficult to fulfill.
III.
Прочитайте и перепишите следующие предложения. Подчеркните в них
герундий, определите его форму и функцию. Переведите предложения на
русский язык.
1.
Good management involves selecting people who know when to listen and
when to act.
2.
I am not accustomed to having my word doubted.
3. One way the Government regulates businesses is by maintaining fair competition.
4. Many millions of dollars have been spent towards solving this problem.
IV.
Прочитайте и перепишите следующие предложения. Переведите
данные предложения, обращая внимание на слова-заменители that и one.
1. For the US the priority remains one of cutting the budget deficit.
2. The image often used to describe the role of the United States in the postwar order is that of a locomotive pulling the world economy.
3. The application of electronics is already having a pervasive effect on entire economy and on our way of life, one that promises to intensify in coming yeas.
4. The planning needed for developing hardware is quite different from that needed for developing software.
V.
Прочитайте и письменно переведите следующий текст
The port of London is to the east of the City. Here today are miles and miles of docks and the great industrial areas that depend upon shipping. This is the East End of London, unattractive in appearance but very important to the country's commerce. The East End is a great proletarian area populated by factory workers and small craftsmen. The East End is the "hands" of London. The hands which have built the palaces, theaters, shops and hotels, the hands which unload the cargoes in the docks, which make furniture, dresses, motor cars and a million and one other things which fill the shops.
The River Thames flowing from west to east divides London into two parts known as the north bank and the south bank. Years ago the Thames used to overflow its banks when the tide came up but now it has been banked up and you see a fine wide roadway called the Embankment. The Thames estuary offered excellent facilities for shipping. The deep channel and high tide of the lower river enable vessels to pass inland as far as the bridge and unload in waters that were little troubled by heavy storms in the North Sea. In the early days they anchored in the river and unloaded into small boats and barges, which carried the goods to landing places on the banks.
ВАРИАНТ 5.
I. Прочитайте и перепишите следующие предложения. Подчеркните в них инфинитив и определите его форму и функцию. Переведите предложения на русский язык. Смотри образец выполнения 1:
1. То produce such a system requires extensive correlation and analyses.
2. In the West they can choose to attend these training sessions or not.
3. The age of microprocessors is upon us and to remain competitive we must take advantage of better management techniques to improve production.
4. Leisure is an activity that frequently requires money to be spent upon it.
II.
Прочитайте и перепишите следующие предложения. Подчеркните в них
причастия I и II, определите их форму и функцию. Переведите предложения на
русский язык.
См. образец выполнения 2:
1. Having lived in London long he speaks English well.
2. For 25 years design engineers have been updating their skills and knowledge at this University.
3. Several  studies have been conducted providing some insight into this problem.
4. The central problem tackled is, therefore, a cost minimization problem.
III.
Прочитайте и перепишите следующие предложения. Подчеркните в них
герундий, определите его форму и функцию. Переведите предложения на
русский язык.
1. The only way to develop the necessaiy skills is by putting knowledge into action through practice.
2. Running a family, going on holiday or just shopping, all involve you in the exercise of a managerial style.
3. Using this substance has resulted in a clear atmosphere being obtained in the auto-shop.
4. Buying capital equipment such as computers, peripherals and analytical systems can be a strain on a company's resources.-
IV.
Прочитайте и перепишите следующие предложения. Переведите
данные предложения, обращая внимание на слова-заменители that и one.
1. Unemployment rates are so low that anyone who wants a job can find one.
2. The former statement reflects the viewpoint of the contractor and the latter reflects that of the user.
3. He singled out the problem of energy supplies and that of developing fuel and energy-producing resources as of primary importance.
4. One of the most common problems associated with purchasing a business is that of management.
V.
Прочитайте и письменно переведите следующий текст.
An essential part of marketing is market research. It should both precede the introduction of a new product, and should keep a regular check on what is happening to the existing ones. The object of market research is, primarily, to find out what the public wants. If a product is demanded, it will be sold.
Market researchers also attempt to find out in what form, shape, color and package the consumers will accept the product. They try to keep track of changing
patterns in demand as well. The successful firm is the one that can commence production today for the needs of tomorrow.
Market research should be distinguished from consumer research. This looks at marketing from the consumers' point of view. For exampie, it is concerned with such questions as which of the many rival products represent the best value for money and how to safeguard the consumers' interest best of all.
Of course, market researchers will be concerned not only with what products are needed and what vendor will sell them but also with what the peculiarities of the markets with which their firms are concerned. Are there any moral, legal or social reasons why the proposed product should not be marketed in the area under consideration? In what way will the demand and the type of appeal (that will have to be made to consumers through advertising) have to take account of the social, linguistic and racial backgrounds of the potential customer?
Контрольное задание 4.
Для выполнения контрольного задания 4 необходимо проработать следую​щие разделы курса.
1. Сложные предложения.
2. Сложносочиненные, сложноподчиненные предложения (типы придаточных предложений).
3. Условные предложения.
ВАРИАНТ 1.
I. Перепишите следующие предложения, содержащие независимый причастный оборот. Проанализируйте и определите тип придаточного предло​жения. Переведите письменно данные предложения на русский язык.
1. My dictionary being very small, I could not find all the words.
2. In Liverpool the young jobless amounted to 4,000, almost half of them being girls.
3. There being no time left, we had to hurry.
4. The country has good ports, each possessing good rail connection with the interior.
5. The sun having set, we went for a walk.
II. Перепишите следующие предложения, содержащие предикативный герундиальный оборот. Переведите письменно данные предложения на русский язык.
1. There is no hope of our getting a complete analysis of the measurements within 10 days.
2. Women will struggle hard to prevent their maternity pay and leave rights being snatched away by the government.
3. Lack of maternity pay and leave had been a real obstacle to women achieving equality in the workplace.
4. After their repairing the motor, we set off.
5. 1 never heard of him behaving like that.
III.
Перепишите следующие предложения, содержащие инфинитивный
оборот. Определите тип инфинитивного оборота. Переведите письменно дан​
ные предложения на русский язык.
1. We want them to take well thought out, considered risks.
2. Democritus  considered  matter to  be made up of very  small,  invisible particles.
3. A complicated problem of using solar energy is expected to be solved in future.
4. These data are certain to confirm our hypothesis.
5. It is still advantageous for foreign companies to operate in Russia through a representative office.
IV.
Перепишите следующие условные предложения. Определите тип
условного предложения и переведите письменно данные предложения на
русский язык.
1. If you happen to be Swedish, you can expect to live to the age of 73 years.
2. If he were to go through his life again, he said, he would live it the same way.
3. If you had come in time, we might have finished the test.

4. If the employees followed safety instructions given them, they would not be injured.
5. If the efforts of the world science were coordinated, the world progress would accelerate.
V.
Прочитайте и письменно переведите следующий текст
Microsoft Windows (or just Windows) is a software program that makes your IBM PC easy to use. It does this by simplifying the computer's user interface.
The word interface refers to the way you give your computer commands, the way you interact with it. Usually the interface between you and the computer consists of the screen and the keyboard: you interact with the computer by responding to what is on the screen, typing in commands at the DOS command line to do your work.
Windows owes its name to the fact that it runs each program or document in its own separate window. (A window is a box or a frame on the screen). You can have numerous windows on the screen at a time, each containing its own program and/or document. You can then easily switch between programs without having to close one down and open the next.
Another feature is that Windows has a facility called Clipboard that lets you copy material between dissimilar document types, making it easy to cut and paste
information from, say, a spreadsheet into a company report or put a scanned photograph of a house into a real estate brochure. In essence Windows provide the means for seamlessly joining the capabilities of very different application programs. Not only you can paste portions of one document into another but also by utilizing more advanced document-linking features those pasted elements remain "live". That is, if the source document changes, the results will also be reflected in the secondary document containing the pasted data.
As more and more application programs are written to run with Windows, it will be easier for anyone to learn how to use new programs. This is because all application programs that run in Windows use similar commands and procedures.
ВАРИАНТ 2.
I. Перепишите следующие предложения, содержащие независимый причастный оборот. Проанализируйте и определите тип придаточного предло​жения. Переведите письменно данные предложения на русский язык.
1. The companies must be privatized, with no more than 10% of their shares remaining in government hands.
2. With so much computer development taking place all over the world, it needs an international computer organization to keep abreast of new techniques.
3. The conference being over, the delegates made a tour of the country.
4. Agreements having been reached on important question, it only remains to agree on some minor questions.
5. The construction of the house being completed, his duties as architect have come to an end.
II.
Перепишите следующие предложения, содержащие предикативный
герундиальный оборот. Переведите письменно данные предложения на русский
язык.
1. They insisted on Mary staying for another few days.
2. Sorry, we know nothing about her being sent on a business trip.
3. I really appreciate your coming here.
4. His not knowing Russia has been an obstacle in communication with ordinary people.
5. His pretending not knowing the news seemed very strange.
III.
Перепишите следующие предложения, содержащие инфинитивный
оборот. Определите тип инфинитивного оборота. Переведите письменно
данные предложения на русский язык.
1. The delegates are not expected to participate in today's talks.
2. The weather is likely to change.
3. Some scientists believed the earth and other planets to have come originally from the sun.
4. A person wants his work to be not only well paid, but to be a challenge, to help broaden his horizons, and to add to his knowledge and skills.
5. It is a matter of utmost importance for industries engaged in exporting to develop methods of production by which products can be produced more cheaply.
IV.
Перепишите следующие условные предложения. Определите тип
условного предложения и переведите письменно данные предложения на рус​
ский язык.
1. If the market becomes too saturated, demand may drop off.
2. Even if he were here, he would not help you.
3. I ate up my bread and drank up my coffee at once. I should have been glad if there had been more.
4. If the barrels with nuclear waste dumped at sea ever leaked, nuclear contamination would quickly spread through the sea and present a serious threat to many countries.
5.
You could have caught the train if you had hurried.
V.
Прочитайте и письменно переведите следующий текст
When Charles Babbage, a professor of mathematics at Cambridge University, invented the first calculating machine in 1812 he could hardly have imagined the situation we find ourselves in today. Nearly everything we do in the modern world is helped, or even controlled by computers, the complicated descendants of his simple machine. Computers are being used more and more extensively in the world today, for the simple reason that they are far more efficient than human beings. They have much better memories and can do calculations in a friction of the time taken by a human mathematician. No man alive can do 500,000 sums in one second, but an advanced computer can. In fact, computers can do many of the things we do, but faster and better. They can pay wages, reserve seats on planes, control machines in factories, work out tomorrow's weather, and even play chess, write poetry, or compose music. That is computers concern people in their daily lives and work.
ВАРИАНТ 3.
I. Перепишите следующие предложения, содержащие независимый причастный оборот. Проанализируйте и определите тип придаточного предложения. Переведите письменно данные предложения на русский язык.
1. The choice having been made, all the other alternatives have been rejected.
2. There are many forms of organization employed in a building firm, the form depending on the size of the firm and the nature of the work it normally undertakes.
3. The mechanic having repaired the motor, the engineer examined it.
4. The speed of light being extremely great, we cannot measure it by ordinary methods.
5. In London there are a lot of museums, the largest being the British Museum.
П. Перепишите следующие предложения, содержащие предикативный герундиальный оборот. Переведите письменно данные предложения на русский язык.
1. Information can be transmitted without anyone leaving his work place.
2. These economic difficulties are largely due to our having joined the Common Market.
3. His being sent to London was quite unexpected.
4. Improvements in health and medicine have resulted in people living longer.
5. The application of numerical control for such work avoided the risk of an error being made due to the fatigue of the operator.
III.
Перепишите следующие предложения, содержащие инфинитивный
оборот. Определите тип инфинитивного оборота. Переведите письменно
данные предложения на русский язык.
1. We want you to enjoy yourself.
2. The American people expect their Presidents to be not only symbolic leaders of the nation but moral leaders as well.
3. The surface of the sun is estimated to have a temperature of more than 10,000° F.
4. It is desirable for data to be handled in substantial quantities.
5. The savings in labor are claimed to be considerable.
IV.
Перепишите следующие условные предложения. Определите тип
условного предложения и переведите письменно данные предложения на
русский язык
1. If less-skilled jobs are vacant and the job market is too full of too many qualified applicants for more highly skilled positions, then the demand for education could decline.
2. The enterprise is doing fine and if it were not for one or two technical problems it would be operating perfectly.
3. If he had had normal temperature yesterday, he would have come to the University.
4. If you are convinced, you can convince.
5. Had I more time, I should come to see you more often.
V. Прочитайте и письменно переведите следующий текст
Many people associate computers with the world of science and maths, but they are also a great help to scholars in other subjects, in history, literature and so on. It is now possible for scholars to find a book or article he needs very quickly, which, when a million or more new books are published each year, is quite an advantage. There is a system, controlled by computer, of giving books a code number, reducing them in size by putting them on microfiche, and then storing 3,000 or more in a container no bigger than a washing machine. You tell the computer which subject you are interested in and it produces any microfiche you need in seconds. It is rather like going to an expert who has read all the works on your subject and can remember where to find the correct information, which few human experts can! There are also systems being developed to translate articles from foreign magazines by computer, and to make up many lists of information that are needed in a modern library. So, computers can help us to deal with the knowledge explosion in many ways.
ВАРИАНТ 4.
I.
Перепишите следующие предложения, содержащие независимый
причастный оборот. Проанализируйте и определите тип придаточного
предложения. Переведите письменно данные предложения на русский язык.
1. It being late, we decided to stop working.
2. Disasters often consist of complex chains of events, each event triggering one or more other events.
3. The complete plant is air-conditioned, the atmosphere being changed three times each hour.
4. The new devices showing promise, we began to develop them at a rapid speed.
5. Chemical and physical agents are being released into biosphere, many of them finding their way into human cells and affecting genetic information.
II.
Перепишите следующие предложения, содержащие предикативный
герундиальный оборот. Переведите письменно данные предложения на русский
язык.
1. I know quite well about his having gone to Great Britain.
2. We have more than once warned of the danger of war being triggered-off by accident.
3. The executive director insists on the message being sent immediately.
4. The problem can be solved in case of your giving us all the necessary data.
5. He foresees state government employment continuing to grow.
III.
Перепишите следующие предложения, содержащие инфинитивный
оборот. Определите тип инфинитивного оборота. Переведите письменно
данные предложения на русский язык.
1. The technical literature provides information that enables forecasts to be made of the future trends of development.
2. He had found much of the land to be fertile and the climate suitable for some crops.
3. They are said to have been in London last month.
4. The old rules of economics don't seem to be working anymore.
5. It is always advisable for a solicitor to be consulted for the purpose.
IV.
Перепишите следующие условные предложения. Определите тип
условного предложения и переведите письменно данные предложения на
русский язык
1. The axiom "if you don't go in for politics, it goes in for you" is the political must of today.
2. If he knew her address, he would write to her.
3.
If I had known English, 1 would have helped you with the translation
yesterday.
4. If you want to program a computer, you have to learn its language.
5. If this hydroelectric power station had been built, its reservoir would have flooded nearly all the oilfields in Tyumen in Western Siberia.
V.
Прочитайте и письменно переведите следующий текст
There are two types of computers, the analogue and the digital. Basically, today's analogue computer is a device for measuring such physical quantities as lengths and voltages and, through a mechanical linkage, exhibiting the measurement as a numerical value. However, the analogue computer is limited to special classes of problems and when most people say "computer" today they mean the digital computer, which is a marvel of precision and accuracy, for it works with specific units rather than approximations.
The modern electronic digital computer counts with incredible speed using only two numbers - the one and zero of what mathematicians call the binary system. The counting ability of the computer is used to feed it information. But first the information is translated into a code.
The information is then stored in a memory bank made of magnets. The direction in which electrical signals run through the magnet means one or zero, yes or no, off or on. Each magnet contains one piece of information called a bit. A large computer system can store hundreds of millions of such information bits.
ВАРИАНТ 5.
I.
Перепишите следующие предложения, содержащие независимый
причастный оборот. Проанализируйте и определите тип придаточного
предложения. Переведите письменно данные предложения на русский язык.
1. The situation being favorable, they bought the shares.
2. Haiti's economy was opened to foreign investment, with the United States serving as the key partner in this new strategy.
3. With the experiments having been carried out, we started our calculation.
4. Normally only three operators are required, their duties being concerned with loading of this raw material, main processing and take off.
5. In the past computers, communications and office automation have represented three separate technological strands, each going its own way.
II.
Перепишите следующие предложения, содержащие предикативный
герундиальный оборот. Переведите письменно данные предложения на русский
язык.
1. АН these facts prove the importance of the agreement having been reached.
2. The car is stopped prior to damage being caused.
3. Provisions must be made to avoid the basic danger of these materials being ignited and possibly exploding.
4. There is an increasing trend to shopping being done at hypermarkets.
5. Not a day goes by without your having to solve countless problems.
III.
Перепишите следующие предложения, содержащие инфинитивный
оборот. Определите тип инфинитивного оборота. Переведите письменно
данные предложения на русский язык.
1. The US government considers the treaty to be veiy important and to provide benefits to not only US business in Russia but also Russian business in the United States.
2. Successful leadership requires the President to encourage staff members to express their idea freely.

3. He proved to be right.
4. Robots are considered ideal to perform the myriad, simple "put-or-take" tasks that are so abundant in production operation.
5. It is unlawful for an employer to discriminate between applicants for employment on grounds of color, race, nationality or ethnic or national origins.
IV.
Перепишите следующие условные предложения. Определите тип
условного предложения и переведите письменно данные предложения на
русский язык.
1. If the documents are not exchanged this month, the treaty will not become effective.
2. This situation would be laughable if it were not so burdensome.
3. If demand for goods always matched production, there would be no need to store goods. Naturally this is not the case.
4. If the binary system had not existed, computer designers would have had to invent it.
5. If we need dramatic new technologies to meet the next century's energy needs, the fundamental scientific work should be under way now.
V. Прочитайте и письменно переведите следующий текст
Expert systems are a class of computer programs that can advise, analyze, design, diagnose, explain, explore, forecast, form concepts, identify, interpret, justify, learn, manage, monitor, plan, present, retrieve, schedule, test and tutor. They address problems normally thought to require human specialists for their solution. Some of these programs have achieved expert levels of performance on the problems for which they were designed.
Expert systems are usually developed with the help of human experts who solve specific problems and reveal their drawbacks thought processes as they proceed. If this process of protocol analysis is successful, the computer program based on this analysis will be able to solve the narrowly defined problems as well as an expert.
Experts typically solve problems that are unstructured and ill-defined, usually in a setting that involves diagnosis or planning. They cope with the lack of structure by employing heuristics, which are the rules of thumb that people use to solve problems when a lack of time or understanding prevents an analysis of all the parameters involved. Likewise, expert systems employ programmed heuristics to solve problems.
КРАТКИЙ ГРАММАТИЧЕСКИЙ СПРАВОЧНИК
ТАБЛИЦА BPEIV..EH АНГЛИЙСКИХ ГЛАГОЛОВ В АКТИВНОМ ЗАЛОГЕ
THE TABLE OF ENGLISH TENSES
ACTIVE VOICE
Table 1.
	
	Indefinite
	Continuous
	Perfect
	Perfect Continuous

	
	Констатация факта
	Процесс действия
	Завершенность
	Процесс в течение некоторого периода времени

	Present
	V,V-s
	am, is, are+ V-ine
	have, has
	have, has + been + V-ina

	
	I (they, we, you)
	I am writing now
	+ V-ed. V3
	I have been writing

	
	write
	я пишу сейчас
	I have written
	я пишу (уже час, с двух

	
	he (she, it) writes я (они, мы, вы) пишу (-шут,-ем,-ете)(часто)
	
	я написал (уже, только что)
	часов)

	Past
	V-ed.V2
I wrote
	Was, were + V-ine
	had + V-ed, V3
I had written
	had + been + V-ine

	
	
	[ was writing
	
	I had been writing

	
	я писал (вчера, два
	я писал (вчера в
	я написал (вчера в
	я писал (уже час, когда он

	
	дня назад)
	два часа)
	три часа)
	пришел)

	Future
	Shall/will + V
	ShaMvffl + be+V-пш
	Shall/will +have
	Shall/will+have been +V-ine

	
	I shall write
	I shall be writing.
	+V-ed, V3
	I shall have been writing.

	
	я напишу (завтра)
	я буду писать
	1 shall have written,
	я буду писать (завтра уже

	
	
	(завтра в три часа).
	я напишу (завтра к трём часам).
	в три часа).


ТАБЛИЦА ВРЕМЕН АНГЛИЙСКИХ ГЛАГОЛОВ В ПАССИВНОМ ЗАЛОГЕ
THE TABLE OF ENGLISH TENSES
PASSIVE VOICE TO BE + PARTICIPLE II (V-ed, V3)
	
	Tabic 2.
	
	
	

	
	Indefinite
	Continuous
	Perfect
	Perfect Continuous

	
	Констатация факта
	Процесс действия
	Завершенность
	Процесс в течение некоторого периода

	
	
	
	времени

	Present
	am/is/aiie+Ved.V3
	am / is / are +
	have / has + been
	

	
	I am instructed
	being + V-ed, V3
	+ V-ed. V3
	

	
	Меня
	I am being
	1 have been instructed
	

	
	инструктируют
	instructed
	Меня
	

	
	(каждый год).
	Меня
инструктируют
(сейчас).
	проинструктировали (уже, только что)
	

	Past
	was / were + V-ed, V3
	was / were + being
	had + been
	

	
	I was instructed.
	+ V-ed. V3
	+V-cd, V3
	Вместо отсутствующих

	
	Меня
	1 was being
	I had been instructed
	форм Perfect

	
	инструктировали
	instructed
	Меня
	Continuous

	
	(вчера).
	Меня
	проинструктировали
	употребляются формы

	
	
	инструктировали (вчера в два часа)
	(вчера к трем часам)
	Perfect Tense.

	Future
	Shall/will + be
	Вместо
	Shall/will +have
	

	
	+ V-cd, V3
	отсутствующей
	+V-ed, V3
	

	
	I shall be instructed
	формы
	I shall have been
	

	
	Меня будут
	употребляется
	instructed
	

	
	инструктировать
	Future Indefinite
	Меня
	

	
	(завтра)
	Tense.
	проинструктируют (завтра к трем часам).
	

	1
	
	
	


Предложения со сказуемым в пассивном залоге на русский язык переводятся:
1.
Сочетанием глагола быть в нужном времени и краткой формой
страдательного причастия, т.е. русской пассивной конструкцией.
The paper was written last year. - Статья была написана в прошлом году.
2.
Глаголами, оканчивающимися на - ся, ~сь (со страдательным
значением).
For a number of years commercial relations were kept up with Spain through other countries. - В течение ряда лет торговые отношения поддерживались с Испанией через другие страны.
3.
Неопределенно-личной формой глагола в соответствующем времени в
3-ем лице, мн. числа.
The scientists were offered new themes for research. - Ученым предложили новые темы для исследования.
4.
Личной формой глагола в действительном залоге, если указано кем
производится действие.
The method is followed by all of us. - Все мы следуем этому методу.
В некоторых случаях английская пассивная конструкция может иметь два или даже три варианта перевода, в зависимости от соответствующего русского глагола и контекста.
Особенности перевода предложений со сказуемым в пассивном залоге на русский язык.
1.
Подлежащее английской конструкции от глаголов, принимающих два
дополнения - прямое и косвенное, следует переводить прямым или косвенным
дополнением, т.е. в дательном, винительном и творительном падеже, а
сказуемое - неопределенно-личной формой глагола.
Не was asked to wait. - Его попросили подождать.
This information should not be ignored. - He следует пренебрегать этой информацией.
Не was given the document. - Ему дали документы.
2.
При употреблении в пассивном залоге ряда глаголов, требующих после
себя предлогов, английское подлежащее переводится дополнением • с
соответствующим предлогом, а сказуемое - неопределенно-личной формой
глагола.
This case was much spoken about. - Об этом случае много говорили.
3.
Ряду глаголов, принимающих предложное дополнение, в русском
языке соответствуют переходные глаголы, например:
to account for - объяснять, быть причиной
to deal with - рассматривать, заниматься, повествовать
to refer to - ссылаться, относиться, упоминать
to act on (upon) - действовать, влиять
to agree upon - соглашаться, договориться
to depend on - полагаться на, зависеть от
to rely on (upon) - полагаться на, и т.д. Например:   The  successes  of these firms  are  largely accounted for  by automation.    -    Успехи    этих    фирм    могут    быть    отнесены    за    счет автоматизации.
4.
При употреблении в пассивном залоге некоторых переходных глаголов
подлежащее английского предложения переводится предложным дополнением.
Наиболее употребительны следующие переходные глаголы, которым в русском
языке соответствуют глаголы, принимающие предложное дополнение:
to join - присоединяться к to follow — следовать за
to affect - влиять на, затрагивать ч-л, и т.д. Например: Our economy is much affected by the economies of other countries. - На нашу экономику сильно влияют экономики других стран.
МОДАЛЬНЫЕ ГЛАГОЛЫ И ИХ ЭКВИВАЛЕНТЫ
MODEL VERBS AND THEIR EQUIVALENTS
Table 3.
	Модальные глаголы и их эквиваленты
	Значение
	Present
	Past
	Future

	Сап / to be able to
	Возможность, способность совершить действие
	Can / am, is, are able to
	Could /was, were able to
	shall, will be able to

	May /to be allowed to; to be permitted to
	Возможность совершить действие в зависимости от разрешения
	May / am, is, are allowed to; am, is, are permitted to
	Might /was, were allowed to; was, were permitted to
	shall, will be allowed to; shall, will be permitted to

	Must/to have to*; to be to**
	Необходимость
совершения
действия
	Must
	had to was/were to
	Shall, will have to

	Should
	Совет,
рекомендация совершить действие
	Should
	—
	—

	Ought to
	Моральная необходимость совершения действия
	Ought to
	—
	—


* - необходимость совершения действия в зависимости от обстоятельств. ** - необходимость совершения действия заранее запланированного или по договоренности.
НЕЛИЧНЫЕ ФОРМЫ АНГЛИЙСКОГО ГЛАГОЛА
NON-FINITE FORMS OF THE VERB
В английском языке имеются три неличные (непредикативные) формы глагола: ПРИЧАСТИЕ (The Participle), ИНФИНИТИВ (The Infinitive) И ГЕРУНДИЙ (The Gerund). Неличные формы глагола не изменяются по лицам и не употребляются самостоятельно в роли сказуемого. Помимо глагольных свойств, неличные формы глагола обладают признаками других частей речи, в частности, имеют некоторые именные свойства.
ПРИЧАСТИЕ
THE PARTICIPLE.
Причастие (The Participle) - неличная форма глагола, обладающая свойствами глагола, прилагательного и наречия. В английском языке различают причастие I (The Participle I - V + ing;) и причастие II (The Participle И - V-ed, V3).
Формы причастие 1.
	Table 4.
	
	

	Participle I
	Active
	Passive

	Indefinite
	
	

	(обозначает            действие,
	
	

	одновременное с действием
	Sending
	Being sent

	глагола-сказуемого,
	
	

	независимо     от     времени
	
	

	последнего)
	
	

	Perfect (обозначает
	
	

	действие, предшествующее
	Having sent
	Having been sent

	действию глагола-
	
	

	сказуемого)
	
	


Причастию свойственны также некоторые черты прилагательного и наречия. Оно может выступать в роли тех же членов предложения, что и прилагательное и наречие: являться определением, именной частью сказуемого и обстоятельством.
Синтаксические функции причастия.
Причастие может выступать в предложении как:
1.
Определение (все формы, кроме перфектных форм причастия I).
// is assumed that each individual is a rational one acting in his own self-interest. - Считается, что каждый человек является рациональным существом, действующим в своих собственных интересах.
Symbols  generally  accepted  are   used with  little   or  no  explanation. Общепринятые  символы   используются   без  объяснений  или  с  небольшими пояснениями.
2.
Часть сказуемого.
They began arguing. - Они начали спорить.
They have accumulated a great wealth and power. - Они накопили огромную власть и богатство.
3.
Обстоятельство (времени, причины, образа действия и т.д.). Часто в
сочетании с союзом (when, while, if, with).
Being in London, I could not help them. - Поскольку я был в Лондоне, я не мог им помочь.
Unless tested the machine must not be operated. ~ Если машина не прошла испытаний, ее нельзя эксплуатировать.
ГЕРУНДИЙ
THE GERUND.
Герундий (V-Hng) - неличная форма глагола, обозначающая название действия и обладающая свойствами глагола и существительного. В русском языке такой формы нет. По своему значению герундий приближается к русским существительным, обозначающим процесс действия.
Формы герундия.
Table 5.
	Gerund
	Active
	Passive

	Indefinite
(обозначает действие, одновременное с действием глагола-сказуемого или будущее по отношению к глаголу-сказуемому)
	Writing
	Being written

	Perfect (обозначает действие, предшествующее действию глагола-сказуемого)
	Having written
	Having been written


Помимо глагольных свойств, герундий обладает свойствами существительного и наречия.
Так же как и существительному, герундию могут предшествовать предлоги. Герундий может иметь определение, выраженное притяжательным местоимением или существительным в притяжательном падеже. Герундий может выполнять те же синтаксические функции, что и существительное: функции подлежащего, дополнения и именной части сказуемого.
Функции герундия.
Герундий может выступать в предложении как:
1.
Подлежащее.
Reading enriches our knowledge. ~ Чтение книг обогащает наши знания.
2.
Часть сказуемого.
His hobby is collecting stamps. - Его любимое занятие -коллекционирование марок.
3.
Дополнение (прямое и предложное).
Nobody risked asking the question.  - Никто не рискнул задать вопрос.
В функции прямого дополнения герундий употребляется после следующих слов и выражений: enjoy, hate, avoid, excuse, mind, risk, need, want, require, и т.д.
We were surprised at hearing the news. - Мы удивились, когда услышали эту новость.
В функции предложного дополнения герундий употребляется после следующих слов и выражений: to be tired of, to be proud of; to be fond of; to be good at; to be interested in; to get used to; to look forward to; to approve of; to keep from; to contribute to; to object to, и т.д.
4.
Определение.
He gave up the idea of becoming a businessman. - Он отказался от мысли стать бизнесменом.
5.
Обстоятельство времени, образа действия, цели, условия.
In doing the work we met with a lot of difficulties. - Когда мы делали эту работу, мы встретились со многими трудностями.
Герундий может переводиться на русский язык существительным, инфинитивом, деепричастием и придаточным предложением.
Не denies having been assisted in the job. - Он отрицает, что ему помогали выполнить эту работу.
ИНФИНИТИВ
THE INFINITIVE.
Инфинитив - неличная форма глагола, сочетающая в себе свойства глагола и существительного. Являясь неопределенной формой глагола, инфинитив не может выражать лицо, число, время и наклонение и, поэтому не может выполнять самостоятельно функцию сказуемого.
Обладая свойствами существительного, инфинитив может выполнять в предложении функции подлежащего, дополнения, определения, обстоятельства и входить в состав любого сложного сказуемого.
Формы инфинитива.
Table 6.
	Infinitive
	Active
	Passive

	Indefinite
(обозначает действие, одновременное с действием глагола-сказуемого)
	То write
	To be written

	Continuous
(обозначает действие, одновременное с действием глагола-сказуемого)
	То be writing
	—

	Perfect
(обозначает действие, предшествующее действию глагола-сказуемого)
	То have written
	To have been written

	Perfect Continuous
(обозначает действие, предшествующее действию глагола-сказуемого)
	То have been writing
	—


Функции инфинитива.
Инфинитив или инфинитивная группа может служить в предложении:
1.
Подлежащим.
То   master   this   speciality   is   not   an   easy   task   -   Овладеть   этой специальностью - нелегкое дело.
2.
Дополнением.
Не likes to read aloud. - Он любит читать вслух.
3.
Частью составного именного сказуемого.
The best way to master the language is to read much. - Лучший способ овладеть языком - это много читать.
4.
Обстоятельством.
То understand the importance of this event you should know all the facts. -Чтобы понять важность этого события, вы должны знать все факты.
5.
Определением.
Не  is  the man to vote for.       Он  тот  человек,  за которого можно голосовать.
НЕЗАВИСИМЫЙ ПРИЧАСТНЫЙ ОБОРОТ. THE ABSOLUTE PARTICIPIAL CONSTRUCTION.
Независимый причастный оборот (Absolute Participial Construction) состоит из существительного в общем падеже или личного местоимения в именительном падеже и причастия.
В русском языке аналогичной конструкции не существует. Независимый причастный оборот по значению соответствует придаточному предложению. Подлежащим в таком предложении является существительное или местоимение, к которому относится причастие.
На русский язык эти обороты переводятся придаточными предложениями времени, причины, условия с союзами когда, после того как, поскольку, так как, если и др., когда стоят в начале предложения; а также самостоятельным предложением бессоюзным или с союзами причем, а, и, но, если стоят в конце предложения.
The situation being favourable, they bought the shares. - Так как ситуация была благоприятной, они купили акции.
In London there are a lot of museums, the largest being the British Museum. -В Лондоне много музеев, и самый большой из них - Британский музей.
При письме независимый причастный оборот выделяется запятой. Часто он начинается с предлога with, который не переводится.
ПРЕДИКАТИВНЫЕ ГЕРУНДИАЛЬНЫЕ ОБОРОТЫ.
THE GERUNDIAL CONSTRUCTION.
Предикативный герундиальный оборот состоит из существительного в притяжательном падеже, притяжательного местоимения или личного местоимения в объектном падеже и герундия.
Существительное или местоимение в составе предикативного герундиального оборота обозначает лицо или предмет, к которому относится действие, выраженное герундием.
/ never heard of him behaving like that. - Я никогда не слышал, чтобы он вел себя таким образом.
Герундиальный оборот соответствует по значению придаточному предложению, подлежащим которого является существительное или местоимение, предшествующее герундию.
We knew of their coming. - Мы знали о том, что они приезжают.
Герундиальный оборот на русский язык переводится придаточным предложением с союзами что; то, что; о том, чтобы; в том, что. Причем, герундий в русском предложении становится сказуемым этого придаточного предложения. Притяжательное местоимение, личное местоимение в объектном
падеже или существительное в притяжательном падеже становится подлежа​щим придаточного предложения.
ОБЪЕКТНЫЙ ИНФИНИТИВНЫЙ ОБОРОТ
THE OBJECTIVE INFINITIVE CONSTRUCTION (COMPLEX OBJECT).
Объектный инфинитивный оборот состоит из:
	Существительного
	

	в общем падеже или
	+ Infinitive

	местоимения в
	смыслового глагола.

	объектном падеже (т.е.
	

	me, him, her, us, you,
	

	them)
	


Объектный инфинитивный оборот переводится на русский язык, как правило, дополнительным придаточным предложением с союзами что; как. При переводе существительное или местоимение становится подлежащим, а инфинитив - сказуемым русского придаточного предложения.
Объектный инфинитивный оборот употребляется после глаголов, которые могут быть распределены по следующим группам:
!. Глаголы, выражающие желание, требование, просьбу, волеизъявление: to want, to wish, to desire, to prefer, to like, to hate, to intend, to mean, would like;
2. Глаголы мыслительной деятельности; глаголы, выражающие мнение, суждение, предположение: to expect, to suppose, to believe, to assume, to think, to consider, to hold, to estimate, to know, to find, to image, to understand, и т.д.
3. Глаголы чувственного восприятия, причем после глаголов этой группы инфинитив не имеет перед собой частицы to: to see, to notice, to observe, to watch, to perceive, to hear, to feel.
She gave no sign that she heard him come in. - Она не подала вида, что слышана, как он вошел.
4.
После глаголов to make, to cause, to allow, to permit, to enable
инфинитив объектного оборота может стоять в действительном и
страдательном залоге. При переводе на русский язык можно: 1. сохранять
порядок слов английского предложения; 2. переводить инфинитив
существительным сразу после глагола или неопределенной формой глагола в
действительном залоге.
The use of the device permits more complex experiments to be carried out. -Применение этого прибора позволяет провести более сложные опыты.
НЕЗАВИСИМЫЙ ПРИЧАСТНЫЙ ОБОРОТ. THE ABSOLUTE PARTICIPIAL CONSTRUCTION.
Независимый причастный оборот (Absolute Participial Construction) состоит из существительного в общем падеже или личного местоимения в именительном падеже и причастия.
В русском языке аналогичной конструкции не существует. Независимый причастный оборот по значению соответствует придаточному предложению. Подлежащим в таком предложении является существительное или местоимение, к которому относится причастие.
На русский язык эти обороты переводятся придаточными предложениями времени, причины, условия с союзами когда, после того как, поскольку, так как, если и др., когда стоят в начале предложения; а также самостоятельным предложением бессоюзным или с союзами причем, а, и, но, если стоят в конце предложения.
The situation being favourable, they bought the shares. - Так как ситуация была благоприятной, они купили акции.
In London there are a lot of museums, the largest being the British Museum. -В Лондоне много музеев, и самый большой из них - Британский музей.
При письме независимый причастный оборот выделяется запятой. Часто он начинается с предлога with, который не переводится.
ПРЕДИКАТИВНЫЕ ГЕРУНДИАЛЬНЫЕ ОБОРОТЫ.
THE GERUNDIAL CONSTRUCTION.
Предикативный герундиальный оборот состоит из существительного в притяжательном падеже, притяжательного местоимения или личного местоимения в объектном падеже и герундия.
Существительное или местоимение в составе предикативного герундиального оборота обозначает лицо или предмет, к которому относится действие, выраженное герундием.
/ never heard of him behaving like that. - Я никогда не слышал, чтобы он вел себя таким образом.
Герундиальный оборот соответствует по значению придаточному предложению, подлежащим которого является существительное или местоимение, предшествующее герундию.
We knew of their coming. - Мы знали о том, что они приезжают.
Герундиальный оборот на русский язык переводится придаточным предложением с союзами что; то, что; о том, чтобы; в том, что. Причем, герундий в русском предложении становится сказуемым этого придаточного предложения. Притяжательное местоимение, личное местоимение в объектном
падеже или существительное в притяжательном падеже становится подлежа​щим придаточного предложения.
ОБЪЕКТНЫЙ ИНФИНИТИВНЫЙ ОБОРОТ
THE OBJECTIVE INFINITIVE CONSTRUCTION (COMPLEX OBJECT).
Объектный инфинитивный оборот состоит из:
Существительного [
в общем падеже или                 + Infinitive
местоимения в          ;   смыслового глагола,
объектном падеже (т,е.    !
me, him, her, us, you,

 them)
I

Объектный инфинитивный оборот переводится на русский язык, как правило, дополнительным придаточным предложением с союзами что; как. При переводе существительное или местоимение становится подлежащим, а инфинитив - сказуемым русского придаточного предложения.
Объектный инфинитивный оборот употребляется после глаголов, которые могут быть распределены по следующим группам:
1. Глаголы, выражающие желание, требование, просьбу, волеизъявление: to want, to wish, to desire, to prefer, to like, to hate, to intend, to mean, would like;
2. Глаголы мыслительной деятельности; глаголы, выражающие мнение, суждение, предположение: to expect, to suppose, to believe, to assume, to think, to consider, to hold, to estimate, to know, to find, to image, to understand, и т.д.
3. Глаголы чувственного восприятия, причем после глаголов этой группы инфинитив не имеет перед собой частицы to: to see, to notice, to observe, to watch, to perceive, to hear, to feel.
She gave no sign that she heard him come in. - Она не подала вида, что слышала, как он вошел.
4.
После глаголов to make, to cause, to allow, to permit, to enable
инфинитив объектного оборота может стоять в действительном и
страдательном залоге. При переводе на русский язык можно: 1. сохранять
порядок слов английского предложения; 2. переводить инфинитив
существительным сразу после глагола или неопределенной формой глагола в
действительном залоге.
The use of the device permits more complex experiments to be carried out. -Применение этого прибора позволяет провести более сложные опыты.
ОБОРОТ «ИМЕНИТЕЛЬНЫЙ ПАДЕЖ С ИНФИНИТИВОМ»
THE SUBJECTIVE INFINITIVE CONSTRUCTION
Оборот именительный падеж с инфинитивом состоит из:
	Подлежащее
	сложное сказуемое,

	(существительное или
	состоящее из глагола

	местоимение)
	в личной форме и


This student is said to work much. - Говорят, что тот студент много работает.
Особенность оборота состоит в том, что действие, выражаемое инфинитивом, относится к подлежащему, стоящий перед ним глагол, указывает на отношение к этому действию со стороны говорящего или вообще неуказанного лица.
При переводе на русский язык английское подлежащее переводится подлежащим, инфинитив - сказуемым, а глагол в личной форме -неопределенно-личным предложением.
Число глаголов, после которых употребляется оборот, ограничено, и их можно разделить на три группы: I. Глаголы, употребляемые в страдательном залоге:
	
	инфинитива


to believe
- полагать, считать
to suppose
- предполагать, полагать
to think
- думать, считать
to consider
- считать, полагать
to hold
- считать, полагать
to take
- считать, полагать
to assume    - допускать, предполагать
to know        - знать, (известно)
to intend      - иметь в виду, предполагать
to mean
- полагать, считать
to expect
- ожидать, полагать
to observe
- наблюдать

to estimate  - подсчитывать
	to prove
	- доказывать

	to say
	- говорить

	to show
	- показывать

	to report
	- сообщать

	to announce
	- объявлять

	to state
	- утверждать

	to claim
	- утверждать

	to suffer
	- терпеть

	to find
	- обнаруживать

	to see
	- видеть

	to feel
	- чувствовать


II. Глаголы, употребляемые в действительном залоге:

	to see
to appear
to prove
to turn out
to come out
to happen
to chance

	· казаться, видеть

· казаться, (по-видимому)

· оказываться

· оказываться

· оказываться

· случаться, происходить

· случаться, доводиться




III. Составные глаголы:
to be likely
- вероятно, может быть
to be not likely       - маловероятно, не может быть
to be unlikely        - вряд ли, едва ли
to be sure
- конечно, несомненно
to be certain
- обязательно
При переводе необходимо учитывать время глагола, стоящего перед инфинитивом.
The circulation of the newspaper was supposed to be increased by one-third. -Полагали, что тираж этой газеты увеличится на одну треть.
The recent price rise is understood to be a temporary phenomenon. -Считают, что недавнее повышение цен является временным явлением.
При переводе необходимо также учитывать и форму инфинитива. Infinitive Indefinite или Continuous переводится сказуемым в настоящем времени, a Infinitive Perfect или Perfect Continuous - сказуемым в прошедшем времени.
Не is said to so to London. - Говорят, что он едет в Лондон.
Не is said to have gone to London. - Говорят, что он уехал в Лондон.
ПРЕДЛОЖНЫЙ ИНФИНИТИВНЫЙ ОБОРОТ FOR-PHRASE CONSTRUCTION
Предложный инфинитивный оборот (For-phrase) состоит из:
Существительное
For
в общем падеже
или местоимение в ! объектном падеже

Infinitive
В этом обороте предлог for образует единое смысловое целое, где инфинитив выражает действие, субъектом которого является существительное или местоимение.
Такой оборот переводится на русский язык придаточным предложением, подлежащим которого становится субъект действия, а сказуемым - инфинитив. Тип придаточного предложения зависит от функции, выполняемой оборотом в предложении. Чаще всего оборот употребляется в функции обстоятельства. В таком случае придаточное предложение вводится союзом чтобы (для того, чтобы).
For the material to be published this year you should have it typed as soon as possible. - Для того чтобы этот материал был опубликован в этом году, вам необходимо как можно быстрее перепечатать его на машинке.
Предложный инфинитивный оборот выступает также в функции других членов предложения:
подлежащее
For the book to be issued in January is out of question. - He может быть и речи, чтобы книгу издали в январе.
дополнение
She asked for the papers to be messaged to her. - Она попросила, чтобы ей переслали документы.
определение
The only conclusion for him to draw was the following. - Единственный вывод, который он мог сделать, был следующим.
именная часть сказуемого
The main problem is for the shares to be issued as soon as possible. -Единственная задача состоит в том, чтобы акции были выпущены как можно быстрее.
УСЛОВНЫЕ ПРЕДЛОЖЕНИЯ
CONDITIONAL SENTENCES
Наклонение - грамматическая категория глагола, устанавливающая отношение между содержанием высказывания и действительностью.
Обозначаемое глаголом действие может мыслиться как реальный факт (изъявительное наклонение), ■ как действие, совершенное по просьбе, приказанию, совету (повелительное наклонение) или как не соответствующее действительности, а только возможное или желаемое действие, которое может или могло бы совершится при определенных условиях (сослагательное наклонение).
Сослагательное наклонение в условных придаточных предложениях.
В английском языке существуют условные предложения четырех типов. В условных предложениях I типа используется изъявительное наклонение, в условных предложениях II, III, IV типов - сослагательное.
1 тип
If the number of things overlooked is small, a project can succeed. - Если число пропущенного невелико, проект может оказаться успешным.
II тип
If a nuclear war were unleashed it would sweep civilization away - Если бы началась ядерная война, она бы уничтожила цивилизацию.
Действие и условие совершения действия либо противоречат действительности, либо маловероятны. И условие, и следствие относятся к настоящему или будущему времени. В условном предложении для всех лиц единственного и множественного числа употребляется форма сослагательного наклонения, внешне совпадающая с Past Indefinite, причем, глагол to be употребляется в форме were для всех лиц единственного и множественного числа. В главном предложении употребляется would (could, might + indefinite Infinitive) для всех лип единственного и множественного числа.
III тип
If he had known their address, he would have written to them. - Если бы он (тогда) знал их адрес, он бы написал им.
Действие и условие совершения действия абсолютно нереальны. Действие могло бы совершиться при определенных условиях, но не совершилось. И условие, и следствие относятся к прошлому.
В условном предложении для всех лиц единственного и множественного числа употребляется форма сослагательного наклонения, внешне совпадающая с Past Perfect. В главном предложении употребляется would (could, might + Perfect Infinitive) для всех лиц единственного и множественного числа.
	II тип
Маловероятное
действие(относится
к настоящему или
будущему времени)
	Главное предложение
Should (would,
might, could) +
Indefinite Infinitive
(без частицы to)
	Придаточное предложение
Форма глагола, совпадающая с Past Indefinite

	III тип
Нереальное
действие(относится
к прошлому
времени)
	Should (would, might, could) + Perfect Infinitive
	Форма глагола,
совпадающая с
Past Perfect


IV тип (смешанный). Условие и следствие (то есть придаточное и главное предложения) относятся к разному времени (одно к прошедшему, другое к будущему).
If you had seen the film, we could discuss it now. - Если бы вы (уже) видели этот фильм, мы могли бы его сейчас обсудить.
Дополнительная информация
В условных предложениях II типа, относящихся к будущему времени, иногда употребляется форма сослагательного наклонения с глаголом should для всех лиц и чисел.
If you should see him, tell him everything. - Если случится так, что вы его увидите, расскажите ему все.
Эта форма передает меньшую степень вероятности действия придаточного предложения.
Во всех трех типах условных предложений союзы if, provided, in case и другие могут быть опущены, если в придаточном предложении имеются глаголы had, were, could, might, should. В таких случаях эти глаголы ставятся перед подлежащим. При переводе необходимо ввести союз если (бы).
Should he come, let him wait for me, - Если он придет, пусть подождет меня.
СОГЛАСОВАНИЕ ВРЕМЕН SEQUENCE OF TENSES
Согласованием времен называют в английском языке зависимость времени глагола-сказуемого в придаточном предложении от времени сказуемого главного предложения.
Если сказуемое главного предложения выражено глаголом в одной из форм прошедшего времени (обычно в Past Indefinite), то в этом случае глагол придаточного предложения употребляется в одной из форм прошедшего времени или будущего в прошедшем.
/ was sure that you knew her address. - Я был уверен, что вы знаете ее адрес.
1.
Для выражения действия одновременного с действием главного
предложения глагол придаточного предложения употребляется в Past Indefinite
или Past Continuous.
I knew that he had been ill for a long time. - Язнал, что он долго болел.
2.
Для выражения действия, предшествующего действию главного
предложения, глагол придаточного предложения употребляется в Past Perfect.
С такими указаниями времени, как the day before, three days before, и т.д., выражающими прошедшее время по отношению к другому прошедшему моменту, употребляется Past Perfect.
Не said that he had zone to the theatre the day before. - Он сказал, что был в театре накануне.
3.
Для выражения будущего действия по отношению к действию
главного предложения глагол в придаточном предложении употребляется в
одной из форм Future-in-the Past.
/ hoped that I should find him at home. - Я надеялся, что застану его дома.
Соблюдение правил согласования времен не является обязательным, если сказуемое придаточного предложения выражает обычное действие.
Galileo proved that the Earth moves. - Галилей доказал, что Земля вращается.
Правило согласования времен характерно при преобразовании прямой речи в косвенную речь. Обстоятельства времени при этом меняются следующим образом:
yesterday - the day before, on the previous day;
tomorrow- the next day;
ago - before;
now - then;
last night - the previous night.
УСИЛИТЕЛЬНАЯ КОНСТРУКЦИЯ
EMPHATIC CONSTRUCTION
It is (was)... that (who, when)...
Для   выделения   любого   члена   предложения   в   английском   языке
употребляется сложноподчиненное предложение с конструкцией It is (was) . ..
that (who, when), обычно переводимое на русский язык простым предложением,
в котором усиление передается словами именно, это, только, как раз:
It was Mendeleyev who developed
Именно Менделеев создал
The Periodic Law of Elements.
Периодическую систему
элементов.
ТЕКСТЫ ДЛЯ ДОПОЛНИТЕЛЬНОГО ЧТЕНИЯ
Текст I
1.
Прочитайте текст.
DISTANCE EDUCATION OVER THE WORLD
Distance education over the world has a history of more than 100 years. But it gained popularity only after 1970's.
Many countries like China, England, Japan, Russia, Spain and the USA use this method especially in higher education.
For example, the Open University in England has more than 80,000 students who take about 140 courses per year. That university has 260 local teaching and 13 regional information centers.
Such factors as age, place, and daily activity do not serve as limiting factors in distance education. Distance education has two main advantages over traditional classroom education. The first advantage is the solution to the problem of teaching staff shortage and the second one is the low cost of education, which gives many people an opportunity to receive higher education.
Distance education is a system of education for different people at any age. This education allows each student to have an individual scheme of study.
2.
Ответьте на следующие вопросы.
a) What countries use distance education?
b) What are the advantages of distance education?
Текст II 1. Прочитайте текст.
COLLEGES AND UNIVERSITIES IN THE USA
Young people in the USA get higher education in colleges and universities. Students choose "major" subject and take many courses in that country.
After four years of study students get the degrees of Bachelor of Science (B.Sc), Bachelor of Philosophy (B. Phi.) or Bachelor of Arts (B.A.), if they study humanities. After a year or two of further study they get a master's degree. If they go on their study and research, they will get a still higher degree of Doctor of Philosophy (Ph.D.).
Higher education trains people to become teachers, engineers or to do other professional work.
College students often continue their study at universities. Not all the students get grants. The minimum period of study is two years (in this case they do not get the degree of Ph.D.), three or four years.
Many cities have colleges and universities that hold evening classes as well as daytime classes. People who work in the daytime can get higher education attending evening classes.
2. Ответьте на следующие вопросы.
a) When do students get degrees of Bachelor of Science?
b) When do students get a master's degree?
Текст III 1. Прочитайте текст.
MANAGEMENT
Management is the art of getting things done through other people. It includes the personnel who have the right to make decisions that influence company's affairs.
There are three management levels: top management, middle management and operating management. Top management includes the presidents, vice presidents, and the general managers. Middle management includes department managers and plant managers. Operating management includes supervisors, foremen, etc.
The most important responsibility of any manager is decision making. Successful management is a skill of choosing from alternatives.
Decision makings are divided into: recognizing the problem, defining and analyzing the problem, evaluating alternative solutions, choosing the most favorable solution and implementing the approach chosen.
Management functions are planning, organizing, directing, controlling, staffing and innovating. It should be noted that successful management is based on three basic elements: leadership, motivation and communication.
To operate a successful business one should have management skills because effective management is the key to business success.
2. Ответьте на следующие вопросы.
a) What is management?
b) What are the management functions?
Текст IV
1.
Прочитайте текст.
COMPUTER SCIENCE
Computer science is a part of applied mathematics. Specialists in computer science say that the field of knowledge is very interesting because it deals with the science of mankind future.
Computers are intended to improve the productivity of labor of scientists, designers, engineers, managers, and other specialists, because computers offer quick and optimal solutions. One of the main goals of using computers is to shorten the time between designing and manufacturing.
Moreover, computers came in our life and our houses and now we can solve our everyday problems with their help.
Computers can be divided into simple and complex devices. Simple computers such as calculators can perform addition, subtraction, multiplication and division. As far as complex computers are concerned they can do different logical operations and some of them even have artificial intelligence.
Thus in order to elaborate up-to-date and expensive programs as well as to defend them from viruses, it is important to know some programming languages.
2.
Ответьте на следующие вопросы.
a) What are computers used for?

b) What operations can simple and complex computers perform?

Текст V 1. Прочитайте текст.
ENVIRONMENTAL PROTECTION
People have thought that the environment is an unlimited source of resources, that the atmosphere, forests, rivers and seas are capable of absorbing all wastes. The environment supplies the economy of any country with its resources such as timber, minerals and oil. As a result, natural resources are becoming reduced, air and water are polluted, and the environment is unable to absorb all its wastes.
For example, waste gases cause acid rains. This leads to forest damage and therefore reduces the resources of forests. Another problem is water shortage resulting from unlimited use of it. The third one is destroying the ozone layer of the Earth through pollution from plants and cars. One more problem is damage to wildlife. It is possible that some kinds of animals can disappear due to people's activities.
Russia is suffering the environmental problems as well. Many of these problems are caused by economic activities. So, we should make our best to solve these problems and to protect our life and the life of further generations.
2. Ответьте на следующие вопросы.
a) What leads to environment pollution?
b) What is it necessary to do to live in a healthier world?
Текст VI
1.
Прочитайте текст.
THE USA
The United States of America lies in the central part of the North American Continent with the Atlantic Ocean to the Hast, the Pacific Ocean to the West, Canada to the North and Mexico and the Gulf of Mexico to the South.
The USA covers the area of about 3.000.00 square miles. The population of the country is 250 million people.
The climate of the country is varied. One can find high mountains and prairies, tropical heat and arctic cold, valleys and deserts because the country occupies nearly half of the continent.
The USA is a highly developed industrial country. The main branches of industry are electronic, electrical, metallurgical, textile, chemical and many others. The largest cities of the USA are New York, Los Angeles, Chicago and others.
The USA is a federation of 50 states which was established by the Constitution in 1787. Each state has its own government and its own capital city. The Federal Government is headed by the President and the Congress, consisting of Senate and the House of Representatives.
2.
Ответьте на следующие вопросы.
a) How many states does the USA consist of?
b) What does the Congress consist of?
Текст VII
1. Прочитайте текст.
GREAT BRITAIN
The United Kingdom of Great Britain and Northern Ireland (UK) is made up of England, Scotland, Wales and Northern Ireland. The area of the UK is 244.00 square kilometers and its population is 57 million people.
Great Britain has a maritime climate. British winters are mild. Summers are cold and rainy. Fogs often occur in autumn and in winter.
Most people live in cities and towns. Great Britain is a country of numerous cities. Birmingham is one of the largest cities in the country. It is well known for its high-quality steels, cars, aircrafts, machinery and electrical engineering equipment.
Great Britain is a highly developed country. It is a great producer of coal and steel. Great Britain has shipbuilding, machine-building, automobile industries, chemicals, textiles and others. The industries are concentrated in the central part of the country. This is the so-called "Black Country". South-eastern England has less rain, more sun and more fertile soil. This part of the country is an old commercial and agricultural region and is called "Green England" for its fields.
The United Kingdom is a constitutional monarchy. The monarch has very little power and can only reign with the support of Parliament. Parliament consists of the House of Commons and the House of Lords.
2. Ответьте на следующие вопросы.
a) What is the population of Great Britain?
b) What region is called "Black Country?

Текст VIII 1. Прочитайте текст.
RUSSIA
Russia is one of the largest countries of the world. It occupies an area of 17 million square kilometers. Russia is washed by three oceans and twelve seas. It borders on fourteen countries.
The population of Russia is about 150 million people. Russia is a constitutional republic with the President as Head of State. It is one of the leading powers in the world.
The climate of the country varies greatly. The coldest regions are situated in the North and the climate is arctic there. The climate of the central part is continental and in the South it is subtropical.
If you look at the map of Russia you will see the highest mountains in the Caucasus and the Altai, the Urals separating Europe from Asia, many rivers and large lakes. The longest rivers are the Volga in Europe and the Lena in Asia. Lake Baikal is the deepest lake in the world and it has the purest water on the Earth.
Russia is highly developed industrial country. Russia is very rich in natural resources such as oil, coal, gas, gold, diamonds and others. It has the largest oil and gas resources concentrated in Siberia and Far East. It produces cars, machinery, chemicals, textile and many other items.
In 1957 our country successfully launched the world's first satellite. The first manned spaceship Vostok piloted by Yuri Gagarin, a citizen of Russia was launched on April 12, 1961. It opened a new era in the history of mankind.
2. Ответьте на следующие вопросы,
a) What is the territory and population of Russia?
b) What kind of country is Russia?

Текст IX
1.
Прочитайте текст.
ISAAK NEWTON
Isaak Newton was born in 1642 in the family of a poor farmer. The boy began his
first scientific experiments at school.
While studying at Cambridge University Newton formulated the binomial theorem.
In 1662 Cambridge was closed because of the plague and Newton returned to his
native   village.   For   the   next   two   years   he   devoted   himself  to   scientific
experimentation.
Newton's great discovery was the law of decomposition of light. The scientist proved
that the white light of the Sun is composed of rays of light of all colors of the
rainbow. He also discovered the Law of Universal Gravitation which states that
"every particle of matter is attracted by every other particle of matter with a force
inversely proportional to the square of their distance apart".
Newton applied the principle of gravitation to prove that the power which guides the
Moon around the Earth and the planets around the Sun is the force of gravity.
Another application of the law of the universal gravitation was Newton's exploration
of the tides.
Newton was highly honored by his country and in 1703 he was elected President of
the Royal Society. Sir Isaak Newton died in 1727 and was buried in Westminster
Abbey.
2.
Ответьте на следующие вопросы.
a) What laws did Newton discover?
b) Can you formulate the Law of Universal Gravitation?

Текст X
1.
Прочитайте текст.
DMITRY MENDELEEV
D.I. Mendeleev was born in 1834 in Tobolsk in the family of the director of the town gymnasium. He received his secondary education in Tobolsk and then entered Petersburg Pedagogical Institute. After graduation he worked as a teacher for two years.
In 1859 he presented his thesis, received his master's degree and went abroad on a two-year scientific commission. Upon his return to Russia he was elected a professor of the St. Petersburg University where he carried on his scientific and pedagogical activity for 23 years.
In 1906 he issued a book under the title Contribution to the Knowledge of Russia which contained thoughts of the further development of Russian industry and economy. The greatest result of Mendeleev's creative effort was the discovery of the Periodic Table of Elements.
One of the Mendeleev's prominent works is his book Principles of Chemistry in which inorganic chemistry was for the first time explained from the standpoint of the Periodic Law.
A great scientist, Mendeleev devoted his life and energies to the progress of his country. His works embrace various fields of science - chemistry, physics, physical chemistry, geophysics.
2.
Ответьте на следующие вопросы.
a) What did Mendeleev discover?
b) What fields of science do his works embrace?
Текст XI 1. Прочитайте текст.
MICHAEL FARADAY
Michael Faraday, English experimental physicist, was born in 1791 in a poor family. The boy began to work as an apprentice at a bookbinder's shop at an early age. One day a man entered the shop and found the boy studying an article on electricity. The man was surprised to see a boy so interested in such a difficult subject and gave him four tickets for the lectures at the Royal Institution.
The boy went to the lectures and made notes of what he heard. At the end of the lecture he came to Sir Humphrey Davy, the great English scientist, and showed him his notes. Davy was surprised. Later he made Faraday his assistant and helped him in his education.
Faraday had many important discoveries. Among his works are the concept of the magnetic field and the magnetic lines of forces, production of new kinds of optical glass, and research on electrolysis.
Faraday produced the first mechanical motion by means of a permanent magnet and an electric current. This is the principle upon which the modern electric motor is based.
Faraday was very modest and loved his work more than honors. He refused to become President of the Royai Society and also refused to be knighted.
2. Ответьте на следующие вопросы.
a) What was the boy interested in?
b) Which of Faraday's discoveries do you know?
Текст XII 1. Прочитайте текст.
CLIMATIC FORECAST FOR THE 21st CENTURY
Pollution is widely in the news nowadays and probably will be for a long time to come. Environmental problems appear in the newspapers almost daily.
According to scientists the buildup of atmospheric C02 (carbon dioxide) has already raised the temperature in the northern hemisphere by 0.3°C since 1970 and will raise it by another 1.5°C by the end of our century. By 2050 the average annual temperature will be 3-4°C higher than it is now, which will gradually change the climate and the water balance. This forecast was made by a group of specialists at the Congress held in Russia Later the World Meteorological Organization made the same forecasts at their conference in Austria.
The scientists say that up till 2000 these climatic changes will not have great effect, however winter will become warmer and summer drier in the continental regions of Eurasia. The summer in the Arctic will become warmer too and the subtropical zone will stretch out northwards. At the beginning of the next century the climate will start changing on a wider scale. Rainfalls will increase in the northern areas and droughts will happen more often in the south. The specialists say that the rise in temperature calls for international cooperation to cope with the problems of water resources and planning in agriculture.
2. Ответьте на следующие вопросы.
a) When will climatic changes have great effect?

b) How can mankind cope with these problems?
Текст XIII
1.
Прочитайте текст.
ON OXFORD
"The University and City of Oxford are seated on fine rising ground in the midst of a pleasant and fruitful valley... the city is adorned with so many towers, spires and pinnacles, and the sides of the neighbouring hills so sprinkled with trees and villas that scarce any place equals the prospect". Thus wrote John Aycliffe at the beginning of the eighteenth century, and the visitor to Oxford who arrives by train today can see the same spires and pinnacles across a fruitful (and frequently flooded) valley.
The city is obviously small. It is possible to walk to the centre from the railway station down the High Street to the eighteenth-century bridge across the small river separating the old city from its newer suburbs in twenty-five minutes. During that walk the visitor passes many beautiful stone buildings — mediaeval, Renaissance, neo-classical — some with shops on the ground floor, others with doorways leading to ancient courtyards. If the visitor is a stranger, he will probably ask someone to direct him to the University. To this apparently simple question there seems to be no simple answer. Libraries, lecture rooms, museums, the botanical gardens: they are all parts of the university, but they are not exactly its centre. But if the visitor asks for a particular college, he will be directed at once to a specific group of buildings. Those doorways and courtyards belong to colleges which have an actual, physical existence. The 'university' is a more elusive concept.
2.
Ответьте на следующие вопросы.
a) What is Oxford famous for?
b) What are the parts of the University?
Текст XIV
1. Прочитайте текст.
SOME FACTS OF OXFORD HISTORY
Nobody knows exactly when Oxford University 'began'. We know that lectures were being delivered in Oxford at the very beginning of the twelfth century. The students, mostly teenagers, lived wherever they could find lodgings. The learned men who taught them gathered together in small communities, and whenever they could raise the money they built homes for themselves on the monastic pattern. By the fifteenth century most students were living in colleges alongside their teachers, and so they continue to do today. The oldest college buildings still used as rooms for tutors and students are nearly seven hundred years old.
The structure of Oxford University (together with Cambridge) is unique in that it preserves the mediaeval university organisation. In contrast, almost all other British universities are similar to Russian ones, with a central administration in the main building, various faculties, and within the faculties, various departments. Professors run the departments, deans rule the faculties, and at the top of the hierarchy is the Vice Chancellor, equivalent to Rector. He or she has some kind of council to help govern the university.
2. Ответьте на следующие вопросы.
a) When did Oxford begin?
b) Is the structure of Oxford University unigue?
Текст XV
1.
Прочитайте текст.
STRUCTURE OF OXFORD
Oxford and Cambridge, however, are quite different. You must imagine a federation of autonomous republics with a common foreign policy (dealings with the government and other universities) and with a common budget (money from the government and from other national and international sources) and a set of common values (the teaching of undergraduates and graduates and the pursuit of scholarly research), which are at the same time fiercely independent "republics" with their own   funds,   their own   students,   their own projects and enthusiasms.
Despite its venerable age Oxford is emphatically not a museum. Each building is occupied and alive. Even more important, both the University and its colleges are very democratic institutions. Every member of the university is also a member of a college. The 3,200 senior members of the university (that is, those engaged in teaching and research) vote for the Vice Chancellor, who is appointed for four years only and cannot be re-elected; they also vote for the two governing councils, for the faculty committees, the library committees, and the administrators. At the same time, as Fellows of their own college, they appoint new fellows, select students from the many who apply to enter the university, organize the finances and take on many practical responsibilities.
2.
Ответьте на следующие вопросы.
a) Are Oxford and Cambridge quite different?
b) Can the Vice Chancellor be re-elected?

Текст XVI
1. Прочитайте текст.
TAXATION
Everyone knows that taxation is necessary in a modern state: without it, it would not be possible to pay the soldiers and policemen who protect us: nor the workers in government offices who look after our health, our food, our water, and all the other things that we cannot do for ourselves, nor also the ministers and members of parliament who govern the country for us. By means of taxation we pay for things that we need just as much as we need somewhere to live and something to eat.
But though everyone knows that taxation is necessary, different people have different ideas about how taxation should be arranged. Should each person have to pay a certain amount of money to the government each year? Or should there be a tax on things that people buy and sell? If the first kind of taxation is used, should everyone pay the same tax, whether he is rich or poor? If the second kind of taxation is preferred, should everything be taxed equally? .
In most countries, a direct tax on persons, which is called income tax exists. It is arranged in such a way, that the poorest people pay nothing, and the percentage of tax grows greater as the taxpayer's income grows.
2. Ответьте на следующие вопросы.
a) Why is taxation necessary in modern society?

b) How is income tax arranged?

Текст XVII
1. Прочитайте текст.
ANDREW CARNEGIE
The life of manufacturer and philanthropist Andrew Carnegie (1835-1919) is a perfect example of the "rags to riches" philosophy of the nineteenth century. Born in Scotland of parents who were hardworking craftsmen, he was sent to the states in 1848 because of the poor economic prospects in Scotland. Young Carnegie went to work as a bobbin boy in Allegheny, Pennsylvania, at a salary of $1.20 a week, while he read extensively to improve his mind and contributed letters on national topics to the New York "Tribune" and other papers. He next worked as a telegraph messenger, then for the Pennsylvania Rairoad, where a small investment in stock brought a considerable return, which was then invested in the expanding steel industry. At the age of thirty, he was fully embarked upon a line of business, which by 1901 would be worth a
quarter of a billion dollars. Carnegie maintained an interest throughout his career in writing and produced several books on his business theories, social progress, and government. In his essay "Wealth", first published in the "North American Review" in 1889, Carnegie defends the status quo as a necessary condition to the survival of civilization. He suggests that the best method of social reform lies in the uses made of wealth by the wealthy. After his retirement, Carnegie attempted to demonstrate what he meant by using his personal fortune for establishing libraries, supporting education, and leading the international peace movement.
2. Ответьте на следующие вопросы.
a) What was Andrew Carnegie?
b) What has Andrew Carnegie been famous for?

Текст XVIII 1. Прочитайте текст.
ROLE OF CHANCE IN DISCOVERY
Probably the majority of discoveries in biology and medicine have been come across unexpectedly, or at least had an element of chance in them, especially the most important and revolutionary ones. It is scarcely possible to foresee a discovery that breaks really new ground, because it is often not in accord with cunent beliefs. Frequently I have heard a colleague relating some new findings, say almost apologetically. "I came across it by accident". Although it is common knowledge that sometimes chance is a factor in the making ~f a discovery, the magnitude of its importance is seldom realized and the significance of its role is not fully appreciated or understood. A good maxim for the research man is "look out for the unexpected".
The history of discovery shows that chance plays an important part, but on the other hand it plays only one part even in those discoveries that are attributed to it.
The truth of the matter lies in Pasteur's famous saying, "In the field of observation, chance favours only the prepared mind". It is the interpretation of chance that counts. The role of chance is merely to provide the opportunity and the scientist has to recognize it and grasp it.
2. Ответьте на следующие вопросы.
a)
Is the role of chance in scientific discovery great?
b)
How can you explain Pasteur's famous saying that "chance favours only the
prepared mind?
Текст XIX
1.
Прочитайте текст.
METALS AND NONMETALS
There are some distinctions between metals and nonmetals. Metals are distinguished from nonmetals by their high conductivity for heat and electricity, by metallic lustre and by their resistance to electric current. Their use in industry is explained not only by those properties, but also by the fact that their properties, such as strength and hardness, can be greatly improved by alloying them with other metals.
There are several important groups of metals and alloys. The common metals such as iron, copper, zinc, etc. are produced in great quantities.
The so-called precious metals include silver, gold, platinum and palladium. The light metals are aluminium, berillium and titanium. They are important in aircraft and rocket construction.
Many elements are classified as semimetals (bismuth, for example) because they have much poorer conductivity than common metals.
Nonmetals (carbon, silicon, sulphur) in the solid state are usually brittle materials without metallic lustre and are usually poor conductors of electricity. Nonmetals show greater variety of chemical properties than common metals do.
Metals   can   undergo   corrosion,   changing  in  this  case  their  chemical   and electromechanical properties. In order to protect metals from corrosion the products made of metals and steel are coated by some films (coatings). Organic coatings protect metals and steel from corrosion by forming a corrosion-resistant barrier between metal . or steel and the corrosive environment.
2.
Ответьте на следующие вопросы.
a) By what properties are metals distinguished from nonmetals?
b) What is done to protect metals from corrosion?
Текст XX 1. Прочитайте текст.
AUTOMOBILE PRODUCTION
Specialists in automobile industry deal with designing and manufacturing cars, so they should know that the production of the automobile comprises the following phases:
1) Designing,
2) Working out the technology of manufacturing processes,
3) Laboratory tests,
;
4) Road tests,
5) Mass production (manufacturing). Why is it necessary to know all these facts?

It is important to know them as before the automobile (car or truck) is put into mass production, it should be properly designed and the automobile must meet up-to-date requirements.
What are these requirements?
The automobile must have high efficiency, long service life, driving safety, ease of maintenance and pleasant appearance.
In order to obtain all these qualities engineers should develop up-to-date methods of designing cars, using new types of resistant to corrosion light materials. Also it is important to know computer science because it is intended to shorten the time between designing and manufacturing. Computers offer quick and optimal solutions of problems.
But before the car is put into mass production all its units and mechanisms are subjected to tests, first in the plant's laboratory, then the car undergoes a rigid quality control in road tests. Only then the car is put into mass production. Why are these tests required? What qualities are required of the automobile? The modern automobile must be rapid in acceleration, must have smooth acting clutch, silent gearbox, dependable brakes and steering system, as well as pleasant appearance. Also it must be comfortable and have all conveniences.
2. Ответьте на следующие вопросы.
a) What phases does the production of the automobile comprise?
b) Why are cars subjected to road tests?
ПРЕДИСЛОВИЕ
Методические указания составлены с учетом того, что студенты заочного отделения ранее изучали английский язык, но имели перерыв в учебе. Для восстановления навыков чтения, понимания и перевода предусмотрен краткий грамматический справочник, который рекомендуется изучить прежде, чем студенты приступят к выполнению контрольных заданий.
Методические указания рассчитаны на два года обучения. Материал контрольных работ распределяется на четыре семестра (по одной контрольной работе в семестр). При ускоренной программе дистанционного обучения все четыре контрольные работы должны быть выполнены в период, отведенный программой, разработанной для ускоренной формы обучения.
Для практического овладения английским языком при дистанционной форме обучения данные методические указания учитывают требования типовой программы по иностранному языку и предусматривают по 70 часов самостоя​тельной работы студента-заочника в каждом из четырех семестров. Объем практических аудиторных занятий равен 8 часам в первом семестре и по 4 часа в каждом из трех последующих семестров. На выполнение каждой контрольной работы предусматривается 7 часов самостоятельной работы.
В процессе обучения студенты-заочники должны усвоить основные грамматические явления английского языка. С этой целью данные методичес​кие указания включают в себя грамматические таблицы и краткий грамматичес​кий справочник, которые помогут при самостоятельной работе над грамма​тическим материалом при выполнении контрольных заданий. Грамматические таблицы и краткий грамматический справочник включают следующие темы:
1. Спряжение глаголов в Present, Past, Future Indefinite; Present, Past, Future Continuous; Present, Past, Future Perfect; Present, Past, Future Perfect Continuous.
2. Оборот there + be.
3. Местоимения some, any, no.
4. Степени сравнения имен прилагательных.
5. Модальные глаголы can, may, must.
6. Образование и функции Participle I, Participle II.
7. Образование и функции Gerund.
8. Формы и функции Infinitive.
9. Инфинитивные конструкции (Infinitive Constructions). 
10. Независимый причастный оборот (Absolute Participle Construction). 11. Условные предложения (Conditional Sentences).
Перед выполнением контрольных работ необходимо обратить особое внимание на проработку грамматики, предлагаемой в данном кратком грамматическом справочнике, а также в другой учебной литературе по английскому языку.

Учебный материал рассчитан на 340 часов аудиторной и внеаудиторной работы.

ТРЕБОВАНИЯ К ЗАЧЕТУ
К зачету допускаются студенты, выполнившие в письменном виде и защитившие на официальном зачете одну контрольную работу, предусмотренную программой, и выполнившие перевод текстов в объеме 5000 печатных знаков по учебнику или учебному пособию, определенному кафедрой иностранных языков.

На зачете осуществляется контроль чтения и понимания предложенного текста на английском языке, включающего в себя изученный на данном этапе лексико-грамматический материал.

Формы проверки понимания содержания текста: письменный или устный перевод всего текста или его фрагмента, ответы на вопросы по содержанию текста, выбор соответствующего варианта ответа из ряда предложенных высказываний, другие формы контроля.

ТРЕБОВАНИЯ К ЭКЗАМЕНУ
К экзамену по английскому языку допускаются студенты, получившие зачет за первый, второй и третий семестры, выполнившие весь объем работ за четыре семестра, включая четыре письменные контрольные работы и другие задания в соответствии с учебным планом кафедры иностранных языков.
На экзамене студент должен выполнить экзаменационный тест, содержащий 55 заданий, включающих в себя:

1-30 - лексико-грам магические тесты;
31-55 - задания на понимание общетехнического текста объемом 1200-1500 печатных знаков.

Продолжительность экзамена 1,5 часа. Разрешается пользоваться словарем.
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